
�


�آ� ��ا آ���� ����� 

������ �	
�SPC 

����� ���	 :��
� ����� ���� ����� 

�������	
� 



�

����� 

�
 ���
 ����� ��� ����� ���
 ���� �� ����� � � ���� !��"�� ��#��� $#� �#��
 ���#% �#&�

 ���& �'(�) ��*+���,) �� �����+ �-���. $� �/'#01 .�34 �
 ���*+�''5) �� ���
 �'(�) �-���. 6���� !�

 ���
 �����7�
 ����� 89': !��"�� 8;0� ��<
� �#� =�#> ���#?� ��#@ �� 8#;: .�-���. ���-:

 ���#��)SPC(1 �-���. �� !�3C ��D�� �� �: E0� F,�� FG ��H
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1 E'9': �-'�� �� �;��� ��3K
 Z�#�'0 $#� ����#%�
 E#KW �����#0 ���#.� �'#/: ���#
 8#����

 ��1 ��#K
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 ��#,9) ��#@ 1 8#���� �'#-U $#� �: E��� �>��7 8���� �� ��7 E.��'+ ����#�'

 ���;� E:���� ��3K
 �-���. �� E��#��� .�� ���9�0� 6���& ��D�� �,9) ��@ 1 Y��� ��� �: 8����

 ��3K
 =��>� �
 8
�'�0� �'�� �� �����0 1 ��� 8� ����1� ��#>��: �� I#"
 8#(�4 �����#9> ��H#
�

��'& 8� ���% E'9':.
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���'#�
 ��;� ["�� ����� L���) �
 ���) 8� �� 8<'3@ ��> ��#��+ �� .����D���� 8��> ��K
 F\�

 1 ��&��+ $� ����
�0 �% ����#�� 6���#���� $#�…�
 E3�� 1 E0� �� �(���� ����� 8-�-� F,� 

���
 8� ���?) ����� �H:�� ����.

8#-�-� �#�� ]^#018-�-� ��� �: E0�-<� ���#
 �#�� 1 E#0� 100% '+ _'`�) �: �� ��� I
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��'& 8� �
 �� �-#: 8#� .E��K� 8
 �) =�@ 1� �� 8-�-� ��K��� 1�)���a) (�
 �U�> 1 ����� �����

 X01 E;�% �� 8-�-� 1 ��� 8� ��,��H� 8?.� ���� �
 Z'0� 8� �K�#��µ������ �
 δδδδ3=�@ 1� �
 

�1�#G 8#-<� ���� �#����99.73 W 8<%�1 ��> ����#�� �� �#`�� �1�G 1 ����� ���% �'
 ��� �� �<��

0.0027���� �^7 .

��� 8� ���9�0� �������0� =����� �� ����� 8-�-� ��� ��K�;�% ]^0 �''<) ��δδδδ)�;�'0 (���� �:

 �'���'� E0� �'���'� �� �> ���� ��'<� =��#��� b�'#?� ��-#>�µ�������0� =����� 1δδδδ��>������+ 

�-��> ��) L��WX1S�'?� �-��
 8� �<��W �� ��� ������
 ���;� �
 c�
�� ��K0:

X=(X1 + X2 + … + Xn) / n=�> ���;� ���<) /���;� ����?� F: L;W =���;� �'���'� 

)�–�> ���;� ���<) / (�'���'� �� �> ������ =����� !�<
�� f�;D� =���;� �������0� =����� 

S=((X1 – X) + (X2 - X) + … + (Xn – X))  /  (n-1) 

���
 ��&�H
 ��� ������
 ���;� ����#�� �U�#>X1S�
 µ1δδδδ��'& ���;� ��^7 1 �-��> ��,��H� 

E0� ��;:.

������ �
 8��> ���;� ���#� ��	g��: ���9�0� ����� L���) �� ���) 8� ���'
 �� .]^0 �30��� ���


 b�'?� �� ����� 8-�-� ���Z8� ���9�0� E0� ���� �;';h �1�W �� �: ���.

Z = (X1 - µ ) / δδδδ

��\#� :�� i+ ��� 8� �'(�) ����0� $� X0�) 8,'�0j+ ���1 ���#�� ���#<) �'#(�) X#7 $#� ��

 �> ���1 ��� 8W��7 �^% �'���'� �: E0� ��� O�/<� �> 8#-'
��
20mm �������0� =����� 1 E0� 

1mm���
 8� .8W��7 �^% �
 ��>���1 �`�� �� I'
22mmk�'-: ["�� �� 

Z= (X1 - µ) / δδδδ

Z= (22-20 ) / 1 = 2            P(Z < 2) = 0.9773 

i+ E0� 8-�-� ��� ]^0 ��U:

P(Z   > 2) = 1 – P (Z  <  2) = 1  - 0.9773 = 0.0277 = % 2.227 

 �����9> ��>��H
� ��'� ��SPCE0� ���) ��'l'+ 8-. m��( �� ���-: ��>����;� 6.
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1� 1 !�<��h I>�: oW�� �>����;� �#�� �� ]'�#` ���9�#0� 

���� 8� �'(�) E'.�p 1 ��1 ��K
 I��H.�.

-q�'<� !�#<^% �'#(�) �� ��#'&�/W :��W �
 ��� 8� o30 ���-: ��>����;� �� ���9�0� 

q�7 m��( �� !n�#��� �,-#�� �'(�) �� 1 ��'& ���% ���-: E�) �-���. 6���� ���0��W �
 ��

��� ��'&�/W q�'<� !�<^%.

-�-���. ]'�#` Z'# -) ���#
 8#)�4j@� ���1� E#0�
 :���-: ����;� �1� �
 c�?� ��1� 

���� �
�D) �
 �'0�-K� ���
 8`�7 Y��� �: ���0 8� ��,�� �� 8#)�4j@� .!�4j@� ��� ��W1

� ���W���� ��W� �-���. ��,/;4 ��3K
 EKW ��'� ���� !��''5) �) �>� 8.

-�-���. 8����: ���
�� 8)�4j@� ���1� E#0�
 :��>������+ ���
�� 8)�4j@� �>����;� ��� 

�>� 8� �� �
 ���� ��@ �� �K�� !�3C ��H#'� 1 �-���#. Z#K� .�) �-: 8� $;: !�4j@� ����-��

���. 8r���: �� 8-';") ����
��1� E0�
 �-.

-�-���#. ��1�#h�'T ��K;'# -) �� ��#'&�/W:�'
 =j�#7� ['"#�) �#
 ��#�-: ����#;� 

8� ��'&�/W 8.���) !�.j�7� b�0��
 �-���. Z' -) �� 6���4�'T !��''5) 1 8.���) !�.�����
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�N�>�'5�� ���-: ����;� �#� 8#;: ��#�-: ����#;�:����?� ���-: ���
 ��"�� ��'
 �� 8;: 

��'& ������ �G�1 o�G�
 89':.

8;: ���-: ��>����;� f����)8;: ��>������+:(

�N��>����;�X1R

�N��>����;� X1S

	N����;� X

PN����;�X-MR 

�N�> 89`1 ���-:����;� �� 89'`�) ���-: ��>����;� 
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�#� ��#�-: ����#;� H:�� X7 $� F�CL ���-: E�) E(�G �� �� 89': ��"�� X0��� ���?� �: 

���-<
 H:�� X7 �'r�+ 1 n�#
 �� X#7 1� 1 �#>� 8#� ��#��UCL 1LCL �G 1 n�
 ���-: �G �: 

���
 8� ���� 8� ��'��� �'r�+ ���-: .�-���. �&� �: ���� 8� q�"��� �� ���& �
 ���-: �1�G ���

 �#?) �#��
 ��#�-: E#�)�3� "�1�G ��� �'
 ��� ��� �30��� ���;� !�4j@� b�0��
 �: 8@�?� �'/:

 ���� L%�1 .X���� �� �-���. �: ��� 8� ��'& �D'�� 6��'& ���% ���-: �1�G �� s��7 �� �^?� �&�

 �
 !�.����� �� =����� ��D�� L3-� �) E0� ��'� ���� 8Gj`� !����%� 1 ��
 8� ��
 ���-: �� s��#7

 ) F'#(� ���#& =*#G 1 �'#'< .n�#;<� "�
 E0�� X7 �/'01 �
 ���-: ����;� �1� �
 ��� Z0� c�?�

���*+ O�D�� ����0� ���� ��@ �� c�?� 80��
 �) ����& 8� F��� ����,�.

������� ��
� ���
� ������
�� 

���� 8� ��-
 Z'�?) �1�& 1� �
 89'`�) ���-: ��>����;�:

�N�> q�'<� ���-: ����;� 

�N�> [?� ���-: ����;� 

���� 8� Z'�?) ��0� 1� �
 O��:�> �> [?� ���-: 1 �> q�'<� ���-: ����;�:

�K
�'<� ���-: ����;�:

_(� (����;�P)q�'<� Oj%� E3�� ����;�(

q(����;�np)q�'<� Oj%� �`�� ���<) ����;� (�1��� ������ �
 ��> ���;� ���
 

�K�?� ���-: ����;�:

_(� (����;�C)�> [?� ���<) ����;� (�1��� ������ �
 ��> ���;� ���
 

q(����;�u)�G�1 �� �> [?� ���<) ����;�(

!
�"� #$%� &'(� ���
��(p) 

�1�& 1� �� 8,� �� �� �� 6����� 80��
 �� i#+ �#&�"��3% F
�% "1"��3% F
�%�'T "���
 Z'>� ���%

�� ��3% F
�%�'T Oj%� E3�� ID-0����;� �� ���� ���;� �
 ���;� $� �� �� ���� ���� �
 ���� $� 

p��� 8#� ���9�#0� .Y��H& �� !�<^% F: �
 q�'<� !�<^% ���<) E3�� Y��H& ���
 ����;� ���






�1� 8� ��,
 89': ��> ��"�� �� 8>1�& �� 89': ��"�� $� 6 ����� 8: �� �> q�'<� E3��.

P=d/n =F: ���<) ���;� Oj%� /���;� q�'<� Oj%� ���<) =���;� q�'<� Oj%� E3�� 

j\� "8@ �&�PQg 6 �<^% $� �� ���;� Q��� q�'<� �<^% :

p = 5 / 450 = 0.011

pn�#;<� "�� �#�,U�:0.15 �� ��4 ��� �#: 8)��#` �� E#0� 0.15 ��W1 ��->� ���� ��� ���'
 

E0� �'(�) �-���. �� 80�0� ��,��.

�q�'<� Oj%� ����;� =��>

�NX0��� 89': ]^0 �''<) 

�NE'9': �'���'� �� !��''5) �� E����� ��7�0 �W��� 

	N����� E'9': ��3K
 

PN89': � � �� ������ 1 8���W� ��>�G�1 F-0�+ ��,/;4 1 ���: E'<h1 8
����� 

QN����� $#� Y�#�*+ ��'#<� �'#'<) )4 �� F���) ���) 8� q�'<� Oj%� E3�� ����� �
 O�

��: 80��
 ����� �
 �� ����� F���)(.

RNE0� O�n 8;: ���-: ��>����;� �� ���9�0� �: �����#� �'#'<) .��W1 6q�'<� Oj%� ����;�

 ����;� F\� 8;: ���-: ��>����;� 8(1 �-: 8#� ["#�� �� �-���#. �� !j,#��X1RE/4 

�-: 8� 80��
 �� �''5).

���
�� ��)� *+���p)��
�� -.+ �/&/�0 (

���;� Z#DG �'#'<) :E0� q�'<� Oj%� E3�� �� 8<
�) ���;� ZDG .�<^% $� q�'<� Oj%� E3�� �&�

0.001 ���##;� Z##DG 11000 �##
 ��##
 �>��##7 �##
��
 q�'##<� Oj##%� ���##<) !��##` �� �� �##��
 

1000××××0.001=1 8��)��H> ���;� �> �� q�'<� $� 8-<� .���
 8��)��H> ZDG q�"��� E(�G ��� ��

 ��
 �>��"� Y��� �#
 ����#;� .q�'<� Oj%� ���<) E3�� �&�0.15 ���;� ZDG 150 Oj%� ���<) ���
 

X#0��� ��#^
 q�'#<�50××××0.15=7.5 ��
 �>��7 Y��� �
 ����;� ���
 E(�G ��� �#: ��#
 �>��#7 .

83��?) �''<) ���
 �'(1� !��>��� 1 �> 8-'
��
 ���
 ���;� ZDG q�"��� �� F3#% ����#
�-
 Oj%� E3��

��'& !��` q�'<� Oj%� X0��� ���<) 1 q�'<�.

!�4j@� ��1� L#;W :F%��G25 ��� 8� 80��
 �'(�) �-���. �� ���;� .�-U F��� ��7 6�> ���;� ���



�

���& 8� �<^%)�� ���;� ZDGn(���& Y��;� ���
 ���;� �> �� ��W�� Oj%� ���<) it0(d) �'/: 

8� E3C �1�W �� !�4j@����&.

q�'<� Oj%� E3��(p) q�'<� Oj%� ���?�(d) ���;� ZDG ���;� ���;� 

L;W 

���
� ��2+ � 3�'4�5� #�.�� 

q�'<� Oj%� ���<) ���;� �#> ���#
 ���#
�(d) ���;� ZDG�
 �� ���;� �� �
 c�
�� (n) 8�
�C ��4 �: 

q�'<� Oj%� E3�� ���#0 �� 1 ���#: Z'#�?) E#0�(p) Z'���� 8� �� .�1�W ��� E;�% �� it0

 Z'���� 8� �� q�'<� Oj%� �;> 1 �> ���;� �> L#;W .�
 q�'<� Oj%� F: Z'�?) �
 �� �K
�'<� �'���'�

Z��1� 8� E0�
 ��� q�"��� Oj%� F:.

��� �����
 ���;� Oj%� F: /��� ��>��� q�'<� Oj%� F: =p

p����;� �H:�� X7 L%�1 �� pE0� .���� 8� �30��� �'��+ 1 n�
 ���-: �1�G ��-:.

UCL = p + 3   (p(1-p)/n)                      LCL = p - 3    (p(1-p)/n) 

Z'-: 8� ["�� �� c�?� 1 Z'-: 8� Z0� �� ����;� it0 .����;� �'�9) ��p��� �W�) ��� ����� �
 ���
 :

_(� (�� �� ���
 89-� ��4 ���-: �'��+ �G �&�Z��'& 8� � � �� �9` �
��
.

q(���� L%�1 ���-: �G �'��+ �� c�?� �� 8u<
 E0� �,;� ���
 8�3\� ��4 ���-: �'��+ �G �#&�

 E(�G ��� 80��
 �� E0� �-���. ���
 ���-: �� s��7 ��->� ��#�� E'<#h1 �#�� �#:)��;: 8-<�

���-: �'��+ �G �� ���;� �� q�'<� Oj%� E3�� ���
 (
 E(�G 1���� ��.�& � � �� ���:

�N���&��: �
 ]'h�) ���
 :��� 8� ��.�& � � �� �9` �
 �
��
 ���-: �'��+ �G E(�G ��� ��.

�N������ ��0 �� F'/�) 1 ��H#D) :Oj%� ���<) �: E0� E'<%�1 ��� ��->� ���� E'<h1 ���

 �G ��,�� !��` �� 1 ��� 80��
 E/4 ���
 1 �-��> �� ��� �G �� ��;: q�'<� ��D�� ���
1� �1

���& .1 80���
 ��>�^7 �� 8>�& 1 �-��'� �-���. ��3K
 ��->� ���� ��';> c�?� ��� ��W1 ��3(�

���� 8� 8��� I�����.

	N����;� �� �� �K�� �@�
�� ��K�/4 L.� �� i+ ���-: �G �� s��7 ��> ���;� ��W1 !��#` �� 



�

���D� ���-: �1�G 1 =*G "��� 8� �30���.

PN�#�� �� 1 ���
 8.���) ���
 ����;� �1� �
 c�?� v�@ 8;: ���-: ��>����;� �-��� �>����;�

 ���1�'#� ��#W�
 8#; -� F,#� .�� ���4�'T E'<h1 $� ���� ��W�
 ��;�G� !���-�� �'T ��

��� 80��
 ���
 �: ���� ��W1 �'(�) �-���..

��\#�:K� ����� E'<h1 Z'>��7 8� 8,���,(� ��#)�� �#��7��: $#� �� ����;� �� ���9�0� �
 �� 8��

 Z'��;� ���-: q�'<� Oj%� E3#�� .�� -� ��� ���
25 q�"��� ��� $� 8@ �� 8��K� ����� �� ���;� 

Z'-: 8� .F��� ��7 ���;� �>300E0� ����� .

q�'<� Oj%� E3��(p) q�'<� Oj%� ���<)(d) ��� q�"��� Oj%� ���<)(n) ���;� ���;� 
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P = 138 / 7500 = 0.018

UCL = p + 3   (p(1-p)/n) = 0.018 + 3   (0.018(1-0.018) / 300) = 0.041 

LCL = p - 3    (p(1-p)/n) = 0.018 - 3    (0.018(1-0.018) / 300) = -0.005 

LCL =    0 

 

�^?� ��� =*G 1 �@�
�� E/4 L.� �� i+ E0� s��7 ���-: �G �� Z>���� ���;� ���D� "!�30���

��� 8� O�D��:

����p = (138 –16)  /  (7500 –300) = 122 / 7200 = 0.017 

����UCL = 0.017 + 3   (0.017(1-0.017) / 300) = 0.039 

����LCL = 0.017 - 3    (0.017(1-0.017) / 300) = -0.015               LCL = 0 

 ��?��� 1 ���W ���-: �1�G Z0� �
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����� ���% ���-: �1�G �'
 c�?� �'/: ��.

��#,� :�1��� �K>1�& ��� ������ �: 8<%��� �� E0� ��� E3�` ���
 �) �: ���-: �1�G �3#0���

& ���a)� � �� ��� �-��
 8� ���-: E�) �K>1�&��� �: 8^���� �� 8-<� ���� ��
��: �-��
 ��� 8>�

 �-: 8� �''5) E(�G ��� �� ���-: �1�G 1 ����� !1�9) �#���,� �#
 �#> ����#��)�� �''5) �&� 8�G

 ��#� w��#G �K>1�#& �� 8#,� �� X#?. �#> ����#�� (���-: �1�G ���
 �1�& �> ���
 E(�G �#�� ��

 ��� �3#0��� �#��&��W .�> ���;� ������ �'���'� ���
 ���-: �1�G F;4 �� 6��G ��� �
 (n) 8� ��'
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��#� .�� �K>1�&��� ��> ������ �: 8�(�G �� X���� ���25% ±8� ��3% F
�% �-,� �''5) �'���'� 

���
)E0� �����+ ��-> �-���. E(�G ��� ��.(

UCLp, LCLp = p ± 3 (p(1-p)/n) 

: �1�G �1�& �> ���
 ���
 ���
 ���'
 ���?� ��� �� �K>1�& ������ !1�9) 8�%1���& �30��� ���-.

��� 8� q��G ��� �^
�� �� ���-: �1�G ����� ���% ��� ��9& �1�G �� s��7 �: 8@�?� ���
.

UCLp, LCLp = p ± 3 (p(1-p)   /     n) 
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 X���� ��� �� x��"� F/4 c�?� ��� 80��
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 1 ���: ["�� 8-�-� �1� �
 �� c�?� �#��

���� 8�.

� �� 8#@�?� �'#-U ��#W1 �� �>��7 ��: 8#&�'l'+ y#4�
 8#-�- .�����
 ���;� E0� ��K
 ����
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���
 E
�C �1�& �> �� �> ���;� ��> ������ ��,�� �G �) �: ��� O�D�� �� ����
.
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����� ���% Z> �0 E�+ 8(���� ��@ �
 �: 8@�?� ��W1 �� ���-: �1�#G �� s��#7 c�#?� ��#W1 ����

 ���� ��'� o0�-� !����%� �
 1 E�'� ���-: E�) �-���. �: E0� ��� ��->� .�1�G �1� c�?� ��W1

 j\� E;0 $� �
 8-�-� F��;) �� 1 ��#�-: "��W1S1 �'��+ 1 n�
 �
 8(���� �^?� …��� ��->����� 

���
 8;� ���-: E�) 1 o0�-� �-���. �: E0�.

�G �n�
 �^?� 1� �� $� ��W1 �� �� �-���. �: E0� �� ��->� ���� ���-: �'��+�G �'��+ �� 1 n�


 80��
 E(�G ��� �� ���
 �-���. 1 ���
 8� 8`��"
 F/4 �� 8��� 1 ���
 8� ��,#�� ��#U� c�#?�

��� .E0� ��� ����� ��->� ���� n�
 ���-: �G �n�
 c�?� ��W1:

�N� �
 c�?� E0���� �''<) 1 ���-: �1�G X/T �30���8-�-� �1 

�NE0� ��� �)�
 �-���. �� 8�;�% �� �� �^?� �� �� Z��'0 8����: .

	N��� ��D�� ��'& ������ Z��'0 �� ��''5) )1 ��0���
…(

E0� ��� ����� �� 8,� E�j4 �'��+ ���-: �G �'��+ c�?� ��W1:

�N8-�-� �1� �
 c�?� ]'�`�� �''<) 1 ���-: �1�G E0���� �30��� 

�N
 Z��'0 8����: E0� ��.�� ��3K)E0� ZK� ��'�
 Z��'0 ��3K
 80��
 �� ��,� ���(.

	NE0� ��� ��D�� ��'& ������ Z��'0 �� �''5) .
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8-�-� �� F#��;) 1 ��#;<��� ��>�#�(� ��#W1)�-��> ���-: �1�G �'
 c�?� O�;) �,'�(�G �� 8�G (

���
 8� ���� �� �� Z��'0 8����: �� �''5) �����.

��#<) �'#���'� 8#�%1 �1�& ��� �#> �� �#��5� Oj#%� �(np) 9�1�&��� ��� �� L���) ���
 ���'
 �� 

����;� ���
 �: E0� 8�(�G �'3� E(�G ��� �� Z��'0 �� !j��;) 80��
 1 E0� ����� �
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X�� ��9& .8�%1np �� ��;: �� �1��� 5�1� 8;� ��,
 �4��% ��� ���
 .

Runs:
�: ���-: E#�) �-���#. $#� �� ���?�np �3��?) "=�@ 1� �> �� �: 8@�?� ���<) ���
 8� z�H


�3��?) ���'& 8� ���% �'���'� X7 "E0� �1���.

���
 8-�-� �� F��;) �� 8��D
�W f1�� ����� ����) 8� ��� ��K�(�G �� $��>.
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-7��.�� I��H.� 8(���� ��^
 �: _��� $#� �� �#^?� ��� ) .8/3% �^?� �� ���'
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�#�� ��#.�� I>�#: 8#(���� ��#^
 .���
 �-: 8� �C��� �� ��'& Z';�) �: �� �^?� �K�(�G ��� ��

 ��#� ["#�� .�� 8��D
�W �� F��;) f1�� ���� 1 ��� F'/�) 1 ��HD) 1 80��
 ���
 Z�#�'0

���
 � ��� �-���..

Runs:7 �n�
 �� 8�(�G �'-U ��W1 n�;<� �'��+ �� n�
 E;0 �
 E:�G �� 1 �'���'� X"8,� E/<


E0� ��� F/4 ��:

-E0� ��.�� ��3K
 Z��'0 8����:.

-E0� ��.�� �''5) Z��'0 8
����� .

��,� :8�%1np �� ��;: 5X7 �'��+ E;0 �
 E:�G ���
 p�
�� 8� I��H.� .��W1 E(�G ��� ��8

I>�: ����� ����) 8� ���'
 �� �^?� ���5� ����� �� (Nonconformity)���
 .

���
 8;� ���-: E�) �-���. n�
 E(�G 1� �> ��.

�
�"� ��9 �
:��Obvious Nonrandom Patterns 

�{�1 F/4 �
 !��''5) �� ����) 8� �: ��� 8� ��W�
 ��>����;� �� ��;<��'T ��K�(�G !�#%1� 8#>�&

���
 ���� ��W�
.
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���?� 1 ����� ��W1 �1���� F/4 �
 !��''5) X?. �: ����� ���-: E�) �-���#. $#� ��np �3��?) "

�1�G E0� z�H
2/3 �� ���
 c�?� 1/3 1 ���
 ���-: �'��+ �G 1 n�
 �G �'
 �?^-� 8��'� 1/3 c�?� 

�?^-� ��2/3 �1�G 1 8W��7 1/20�-��
 ���-: �1�G �
 $��H� c�?� ) .�% �� E;1/38W��7 (

�� I'#
 �#&�2/3 ���
 �H:�� X7 �
 $��H� c�?� )���
25 �� I'
 �&� �1�&��� 90% �?^-� �� 

1/3�-��
 8��'� (E0� ��� ����� �� 8,� ��->�����:

-8-�-� �1� �
 c�?� ]'�`�� �''<) 1 ���-: �1�G E0���� �30��� 

-!���
 �K�����
 ���#;� Stratified E0� .0��� E0� �,;� ��� O�D�� 8���0 !���
 !�3

���
.

j#: "�� ��;: �&�2/3 �-���. �'���'� X7 �
 $��H� c�?� )���
25 �&� �1�& ��� 40% �� ��;: �� 

�?^-�1/3���
 8��'� (E0� ��� ����� �� 8,� ��->�����:

-���� ��W1 �^7 c�?� �''<) 1 ���-: �1�G �30��� ��.

-_/�"� FG��� �� �K�����
 ���;� E0� ��.�& !��` !1�9�� ��> 8����: �
 �-���..

Z';�) �-���. ��3K
 EKW �� Z��'0 1 ��� 80��
 c�?� ��� ��;<��'T c�?� ��� ["#�� �� i#+

E.�& �>��7 F/4 I��H.� �� =*G �
.
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8-�-� ��p^-��� ����� �'���'� �� �-���. E'/
�% �-��
 ���-: E�) c�?� F: �: 8�(�G �� 8��� J3

 ��� 8�(p) �
 �� J3^-� ����� ��H'� O1H( !��` �� 1(1-p)�->� 8� ���� .

80��
 �-��> x��"
 F/4 ����� �: 8@�?� 1 !�4j@� J
��0 �-���. E'#/
�% 8#)���?� 8#0��
 ��

��� 8� .j\� E0� ��'� ���� ���W !�4j@� J'%� !�<(�^� ���
 "�1�G25 O�D�� �����
 ���;� ��1� 

8� �-��
 8� ���-: E�) c�?� �'/: 1 ��� .���?�p��,��H� E'<%�1 �
 8(���� ��>�-���. ��� ���
 

E0� .��: 80��
 �� Z��'0 8����: ]^0 ��H'� ���) 8� �-���. E'/
�% �30��� �
 .8���� F`��. ��

)��1� �#
 ��1� (��� ["�� ��
 �->��7 �'5�� ���-: �1�G �'
 �: J3^-��� ����� ��H'� 8���-> 1

�30��� E'/
�% �'���'� ��
 �->��7 �-���. ��� s��7 ���-: �� y4�
 Z��'0 �� ��W�� !��''5) �:

��� 8�.
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 8� x��"
 F/4 ��->� ���� Z��'0 �� �#��5� ����#� ��#W1 .���
 F/4 ��� 8��0�-� �� i+

 ��;� O��%� !j,�� FG ���
 .��� �-��� 8��> Y1� �
 o0�-� ��/<� 1 F/4 ��>H'(��� 1 �)��+ ��>H'(

 �-#0�'� �# � .��>����;� �� !�%1� 8>�&X1RE.�& $;: ���) 8� H'� ._<h 1 8��0�-� �� i+

 ���W !�30��� ���
 E(�G ��� �� 1 ���� 80��
 1 Z0� ���W ��>����;� ���
 ���-: �� s��7 c�?�

���& O�D��.

����#;� ��\#�p���#;� Z#DG �#
 �#'5�� :1�
 ��K��/
�� �� �<^% $� 8W��7 �^% ���-: ���#
 N1��

��� 8� ���9�0� .���<) E0� q�'<� !���-�� �'T �� 1 Z(�0 ���
 o0�-� �<^% 8W��7 �^% �&�25 

�D'�� ���� 8� 80��
 1 q�"��� !1�9�� ��> ���;� ������ �
 ���;� :

1035/50515=0.030=��� 80���
 !�<^% F:/!�<^% F:��� Y��;� q�'<� p =

UCL(1) = p + 3   (p(1-p) / n(1)) = 0.020 + 3   (0.020(1-0.020) / 2385) = 0.029 

LCL(1) = p - 3    (p(1-p) / n(1)) = 0.020 - 3    (0.020(1-0.020) / 2385) = 0.011 

��� ����?� ��7 �
 c�
�� ���-: �1�G �
 ���
 ���;� �> q�'<� Oj%� E3��.

��
 �� �^?� ��� ��� 8� =*G �^?� 1� ��� i+ ���� ��W1 ["�� F/4 Z>���� 1 O�0 ���;� 8021 

��;� =*#G ���#) 8#;� �� .���;�24 =*G ���� �: 8
�7 E'9': E/4 �
 ��� E0� ���-: X7 �'��+ 

��� 8;�.

��� =*G !�<^% F:–��� 80���
 !�<^% F: /��� =*G q�'<� !�<^% F:–�;� q�'<� !�<^% F: ��� Y� =p���W 

Z'-: 8� Z0� �� ����;� ���
1� 1 ���: ["�� �� ���-: �1�G ���W �'���'� b�0��
.

���WP=1035-74-113 /  50515-1935-2678 = 848 / 45902= 0.018 
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 ���-: �1�G �'
 c�?� E(�G �#�� �� �#&�p��> ���;� ���-: �30��� ���
 ���) 8� ���W 

;� ���9�0� ��<
��.

!
�"� #$%� ��2"� ���
��(np) 

�1� 8� ��,
 E0� E
�C ���;� ZDG �: 8^���� �� ����;� ��� .

UCL = np + 3   np(1-P)  

LCL = np – 3   np(1-P)  
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np = (np1 + np2 + … + npk) / K

�� �� �:np 1 E0� �1�& �> �� J3^-��� ����� n�1�& �> �� �> ���;� ���<) .

��\� :$� �� �1� �> ��� 8� ��7�0 8,'�0j+ o(�% 84�� ��&��:100 q�"��� 8.���) ��^
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���& 8� �''<) �� q�'<� Oj%� ���<) 1 ��� .E0� ��� v�� �
 ���� E0�
 |����:

q�'<� Oj%� ���<) ���;� ���;� 
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P = 98 / (10××××100) = 0.098                   Cl = np = 100 ×××× 0.098 = 9.8 

LCL,UCL = p ± np(1-p) 

UCL = 9.8 + 3   9.8(1-0.098) = 18.72 

LCL = 9.8 - 3   9.8(1-0.098) = 0.88 

 ���-: ����;� �� ���9�0� 1 ��'&��,
 1 �-���. E'/
�% �30���np ����;� �-��� E0�� pE0� .
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����;� �: 8(�G �� �-: 8� ["�� �� ����� �� ��W�� ��> [?� ���<) �>����;� ���pE3�� 

�-: 8� ���-: �� ����� $� �� q�'<� Oj%�.
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��� 8� E.�� ���5� ����� ��D�� ���
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�> [?� ���-: ��>����;� =��>�:

•X0��� E'9': ]^0 �''<) 

•�'(�) �-���. E'9': ��3K
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(

8)�'/;4 ��>�G�1 89': 8
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 8� �-���0 1.
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C = (C1 + C2 + … + Ck ) / K

��� 8� �30��� ���-: �1�G it0.
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UCL = C + 3   C 

LCL = C – 3   C 
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C = 141 / 25 = 5.64 

UCL = C + 3   C = 5.64 + 3   5.64 = 12.76  = 13             UCL = 13 

LCL = C – 3   C = 5.64 – 3    5.64 = -1.48             =        LCL = 0 

��� 8� ��.�& � � �� �9` 89-� �G .UCL ���: ����) 8;� �> [?� ���<) ��U Z'-: 8� ��& �� 

���
 ����4� 1.

� ��> ���;� ���;5111 123����� ���% ���-: �G �� s��7 .���;� ���;�5111 E/4 ����� 

���� 8� =*G ����;� �� 1 ���
 ["��.

)��� =*G ��> ���;� ���<)–�> ���;� F: ���<) ) / (��� =*G ��> ���;� ��> [?� ���<) L;W–�> [?� ���<) F: L;W = (c���W 

C = (141-22-14) / (25-2) = 4.56 

UCL = C + 3 C = 4.56 + 3  4.56 = 10.97  =   11 

LCL = C – 3 C = 4.56 – 3    4.56 = -1.85   =    LCL = 0 

 ���� 8� �'(�) ��-�� �� �: 8)n���� ��> [?� ���-: ���
 ���) 8� ���W ���-: �1�#G �#�� ��

��: F?�-� ����;� �
 �� �> [?� ���<) E0� 8.�: X?. 1 ��: ���9�0�.



��

2+�� �� �� ?=� ��2"� ���
��)���
��u(

����#;�C���
 ���
 ���'
 ���;� ZDG �&� ���
 ��9-� �G�1 $� ���;� ZDG �: �1� 8� ��,
 8�%1 

Z'��
 ����� �-���. E'9': �� ���K
 ���#�) �,-#��)�> [?� ���?� �'���'� �: ������ �� x��"


���
 $U�: (����;� �� E0� ��K
u�9�0� ��� ��.

�1�&�> �� �> ���;� ���<) �: �1� 8� ��,
 8���-> ����;� ���(n) ���
 �''5�� .

��)� *+��� 

�G�1 �� �> [?� ���<) �'���'� ���
�)U(��� 8� ["��.

�G�1 �� �> [?� ���<) �'���'� =u

��� q�"��� Oj%� F: L;W /�> ���;� �� ��W�� ��> [?� F: L;W =u

UCL = u + 3   (u/n) 

LCL = u – 3    (u/n) 

��,� :�&�n�1�& �> ���
 ���
� ���
 !1�9�� �1�& �> �� u��� 8� �30��� .

u =C/n 

�� �� �:C1 �> [?� ���<) nE0� �1�& �� �� �> ���;� ���<) .

�� �� i+u��� 8� �30��� .

U = (C1 + C2 + … + Ck ) / (n1 + n2 + … + nk)

0��� ���-: �1�G it0��� 8� �3.

UCL = u + 3   (u/n) 

LCL = u – 3    (u/n) 

nE0�K>1�& ������ �'���'� .

�
 �1�& �> �� �> ���;� ���<) !1�9) �&�n�� ���'
 �� ��;: 25% ��W �
 6���
 n�� n8� ���9�0� 

�� 1 ���
 E
�C �> ���;� ZDG E0� ��K
 1 ���n��� ���9�0� .

�-���. E'/
�% [7��u: E0� E0� �G�1 �� �> [?� ���<) X0��� ��->� ���� �.
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���������
� ������
�� ��)� *+��� )R�X(

3�A$B� C�/ ��)� 

6�<^% O�� F\� ��� 8� E3C �� �1� �
 � � ���� �<^% !��"�� �#: E#0� �� �#%�1 �'#K) �� -#�

 ��'& ������ �G�1 6���<
� ��'& ������ |���� 6�<^% 8-. !�#�"�� 6�#<^%�: !�'/;4 F';,) ����) 

����?� �� $��> �'-l;> 1 �> ���;� ������ 1 �> ���;� ���<) 1 !�#<^% ���#<) 6!�#4j@� ��1� L#;W

���� E3C !�4j@� z�
 �� ���
 H'� ��� ��'& ������.

��>����#;� �#
 c�
�#� �����#
 ���#;� ��X1R1 �> ���;� ���<) 6���� ["�� �#��
 ���#:�. 1� 

��;� ZDG �.

�� ��
�� -.+ � �� ��
�� ��2"� ;��"� 

�� ��'& ������ 1 ���;� �<W��� �@�
�� �'��� �� ����0� �
 �: 8)�<.� ���<) 8-<� �> ���#;� ���#<)

Z'-: 8� E3C 1 ���� O�D�� .�4�;D� �� �'��� �
 �<W��� ��
�> �� �: 8)�<^% ���<) 8-<� ���;� ZDG

 8� 80��
 1 ������
 ��'(�) !�<^%���.

���� �� �K�� �� ���� E0�
 !�4j@� b�0��
 ����
 �) ���
 z�H
 8.�: �G �
 ���
 �> ���;� ���#<)

 ��>����;� �'K) �� 1��;� !1�u% �'(�) �-���#. F#:X1RF%��G E0� ��K
 �g���;� P��Q��R

���� q�"��� 8#��) .j\� "���� ���g���;� Q68��) �gg� ��'& ������ ���?� !�4j@� z�
 �� ��

���& 8� E3C.

@2D ���7 @	�2�� ����=� &'0 � ���� ��E 

���& 8� O�D�� �����
 ���;� 1 ���;� �<W��� � � ���� �'��� �
 �� ��1� !���
 �/G�#� �#�� �� .

�� �'��� �
 �<W��� !�<.� ���<)K�
 �� ��� ������
 !�<^% 1nZ'>� 8� I��;� .

F�3�'4�5� #�.�� 

�� ����� 8� �30��� ��� ��'& ������ ����?� �'���'� �> ���;� �� O��: �> ���
 ���
� �/G�� �.

���;� /��� ��'& ������ ����?� L;W =���;� �'���'� 

j\� "���;� ���;� �� �&�10 ��> ������ 35 640 625 120 Z'��
 ����� �� :

X10 = (35+40+25+20) / 4 = 30 



�


��� ���
 it0��� �30��� ���;� �> �
 �@�
�� �-:

������ ����,U�:-������ ����&�H
 =�-��� 

R10 = 40 – 20 = 20 

��<
 �/G�� ��X1 �> �'���'� �;> �'���'� 8-<� R��� 8� �30��� �> �-��� �'���'� 8-<� :

�> ���;� ���<)(k) /  �> �'���'� �;> f�;D� =�> �'���'� �'���'� 

�;� ���<) �> ��(k) /  �> �-��� �;> f�;D� =�> �-��� �'���'� 

�30��� �� i+X1R����;� ���
 ���-: �1�G R1X��� 8� �30��� $',9) �
 :

����#;� �n�#
 �#G �#:R�#
 UCLR�
 �� �'��+ �G 1LCLR��� 8� ���� ���� .��� ����. �� 1

��� 8� �30���:

UCLR = D4. R

LCLR = D3. R

D31D4���;� ZDG b�0��
 �: �-��> 83���h n���� 8� �30��� ��� �1�W �� .

)�1�WP(

N 2 3 4 5 6 7 8 9 10

D4 3.27 2.57 2.27 2.11 2.00 1.92 1.86 1.82 1.78 

D3 * * * * * 0.8 0.14 0.18 0.22 

A2 1.88 1.02 0.73 0.58 0.84 0.42 0.37 0.34 0.31 

� ���-: �1�G �30��� ���
 ����;X��� 8� ���9�0� ��� ��K(���. �� H'� :

UCL(X) = X + A2 × R

LCL(X) = X – A2 × R

o��#hA2���;� Z#DG b�#0��
n�1�W �� )P(��� 8� �30��� .����;� Z0� ���
R8?.� ���� 

���
 8� �-��� ���;4 ���� 1 �> ���;� ���;� I��;�.

�;� �1� �� �'��+ 1 n�
 ���-: �1�G ��G Z'-: 8� Z0� ��� .����;� �� �H:�� X7R�'���'� ��;> 

�> �-���(R)E0� .

��� 8� ["�� ����;� �1� �+�) ����� $� !���
 �> ���;� �� $��> �
 c�
�� �-��� it0.



��

���1� !���
 ���� 8� ��'��� ���-: �� s��7 c�?� ���� L%�1 �'��+ 1 n�
 �1�G �� s��7 �: 8#@�?�

� �1� ��&�H
��� 8� ���� ���� 8-�-) .���;� ����;�S(

����;� Z0� ���
X����;� �-��� R�'���'� ��->� ���� E(�G ��� �� ���;4 ���� 8(1 ���: F;4 

��
 �>��7 .����;� �� �H:�� X7X�> �'���'� �'���'� 6(X)E0� .

���;� ���;� E(�G ��� ���E0� ���-: �1�G �� s��7 .

0��
 1 ��>��� �#
 ��;� ["�� �� �'���'� !��''5) 1 �-���. !��''5) ���) 8� ���-: ��>����;� 8.

��> 8#-�-�X1R����& 8� 80��
 1 ��� Z0� $',9) �
 .8-�-� 1� �'
 ����?� �
 !�%1� 8>�&

��� 8� ���
 8+ �->� 8� ���% �'C�) E�) �� �'(�) �-���. �: x�7 F/4 ��W1 �
.

� �/ <�=� �4��/ � G����� �
5
� ��R

8-�-� Z0� �� i+Rs��7 �� �^?� �&� �) ���& 8� ����?� ���-: �1�G �
 ���� E0�
 �^?� ���
� 

��� I���'+ F/4 ��� 8� E.�� �� �^?� �� 8-�-� �� ���4�'T �''5) �� ���� ��W1 ���-: �1�#G ��

���& 8� 80��
 c�?�.

���
� 2+ 	� ���� �� ��H�/ <�=� 

) �� �#^?� $#� ��#W1 o/^� ��� ��->� ���� �-��
 ���-: ���� �� ��;: �� ���'
 �: c�?� �� ����<

 ���
 8;� ���-: E�) c�?� �� �� �-���#. �#: E#0� .����� ��W1 �1���� F/4 X?. �&� �,'r�D�� ��

 8-�-� �� c�?� ��� ��>��� !��` �� ���& 8� F`�G !��� �
 ���-: �G �� s��#7 c�#?� �-#��


 E/4 ��W1 ��;�G����& 8� v�^� �^?� ��� ��W1 ���
 8`�7.

F/4 8��0�-� !��` �� 1 ���
 8� ��1�h �-���. L��0 F'/�) ��H#D) 1 8#0��
 E#(�G �#�� �� 

��� 8� ��'& Z';�) F/4 ��� ���� �� �-���. E'<h1 �
 �W�) �
 x�7.

•���-: �G �� �)n�
 �^?� $#� ��#W1 UCL 8-�-� �� R��K�(�G �� 8,� ��->� ���� 8� ���

���
.

-E0� E0���� 8-�-� �1� �
 ��� ["�� c�?� 1 ���-: �1�G c�
�� !�30���.

-E0� ��� ��D�� �-���. �� E;0 $� �#
 F#��;) 1 ��#.�� I��H#.� �#> ���#;� �� !��#''5) .

)��� �)�
 �-���. E'<h1(

-� 1 ���
 8;� ]'�` 1 o0�-� !��` �
 �K�����
 ���;� 1 ��'& ������ Y1� ���� ���'
 80��
 �
 ��'.



��

���-: �G �� �) �'��+ c�?� ��W1LCLE0� ��� ����� �� 8,� ��->� ���� :

-��� ��3��� � � ���� �^?� �''<) �� �� 1 ���
 E0���� ���-: �1�#G �#
 c�
�#� !�3#0���

E0�.

-E0� ��.�� I>�: �> ���� I-:��+)E0� ��� ��K
 E'<h1(.

-��� Z��'0 �� ��''5) f�%1 ��'& ��� 

���
� ������
�� ��� �H=� � �� ��
�� �4��/ 

8-�-� �� F��;) �� ���4�'T ���(� �> ��#W1)���% ���-: �1�G �'
 �> ���;� O�;) �,'�(�G �� 8�G

 �-#��
 ��.�#& (1 E0� x�7 ���� 8@ �-���. ����& �� �''5) �� �-���. ���
 ���-:�'T ��->� ����

 �-<
 ���#) 8#� �� 8#�(�G �'#-U E���� �-���. �� q�/^��� X���� ��D�� ���
 ��^7� �'(1� �� .8>�&

 !�Gj`� �� �) ����� ���'
 80��
 �
 ��'� 1 ���#
 q�#/^� 8#-�-� !j��#;) �#
 ["#�� ��>�#�(�

 1 8>�&� �-��� 1 �'���'� ��>����;� �'
 ����?� �
 E(�G ��� �� ���� ���#
 ��#,
 �-���#. 8#(�;�G�

 �'�9) �� ����'
 I-'
��� 8� E0�
 �-���..

Runs 

8��D
�W f1�� ��->� ��#�� �#�� ��K�#(�G �� O��:�#>(Shift) F��;) �� (Trend) �0 $� �
 �-���. 

���
 8�.

�N�'���'� X7 =�@ $� �� _��� $� �� �^?� E9> 

�N��.�� I��H.� 8(���� ��@ �
 �: _��� $� �� �#^?� E#9>)8/3% �^?� �� ���'
 �� �1��� (��

���� ��^
��� ��.�� I>�: 8(.

���% �'C�) E�) �� ��'& Z';�) 1 ��
 ZK� ��'�
 !��''5) f1�� ���� 1 c�?� ��� �-���. 8#0��
 ��

�->� 8�.

�3��?) �'��+ �^?� E9> 1 n�
 �^?� E9> ~U E;0 F,� �� "����� ���% 8(���� ��@ �
 1 X7 $� ��

���
 8;� ���-: E�) �-���. i+.

�� E#0�� E;#0 F,#� �� ����?� I��H.� 8-�-� ��K���RE�) �-���. ����
�-
 ���& 8� ��>��� 

���
 8#;� ��#�-: .E(�G ��� E0� �,;�Long Run Up �� ����0� $� 8D���) I��0�. �� 8��� 

���
 �-���. �� ZK� 1HW $�.



��

�'���'� X7 �n�
 �� c�#?� 8#(���� I��H#.�Run Up ��W1 �� Run�->� ���� �'���'� X7 �n�
 �

E0� ��� ����� �� 8,�:

-F\� ���
 ���� ��W�
 x�7 8�/4 �� E0� �,;� �: Z�#�'0 8#W1�7 �� ���#�& I��H#.�

 �-���. ��K��;(� �� 8,� �� 8��D
�W 1 �''5) �� !�H'KD) �� �''5) .�
 ]'��) �
 ��'� !j,�� ���

���� o0�-� 1 L%��.

-Z��'0 ��'& ������ Y1� �� �''5) )���W ��0���
 F\� 1…(

E(�G I���'+Run Down E(�G �� 1 �'���'� X7 ��� �� c�?� 8(���� I>�: 8-<� Run ��� ��� �� 

E0� ��� ����� �� 8��� X7:

-n�;<� �: 8W1�7 ����?� �� ��,U�: ��> �-#��� "�-: 8� ��D�� �-���. �� ���K
 E(�G .��

Z��'0 �-���. ��3K
 �� 1 ��� 80��
 ���
 F`�G c�?� E(�G ����-��
 � ��� .

-8����: �� 8<%�1 !��''5) � Gj� ����) 8� �: ��'& ����#�� Z�#�'0 �� �#''5) $#� f�#%1 

���;� Y1�"� �� �-���..

�W�#) :�1�&��� �> ��> ���#;� ���#<) �#: 8#���->n��� 8� ��;:< 5E(�G ��W1 ��;�G� Runs 

Below �
�� 8� I��H#.� .�4 E�> �� c�?� ��� ���<) 1 ��-/
 �&� 8�(�G �'-U I���'+ ��� ���'
 �

��1H( "���
 8� Z��'0 ���*+�''5) �� I>�: ��->� ����.

�� �''5) !�%1� 8>�& �� ���� v�� �: 8��K�(�G 1 ���-: �1�G �� ��;: �� ��#�'
 c�#?� �#
 �1j#4

 ��� 8� F`�G �-���. �� x�7 F/4 ��W1 �� �>����;� F,� .Y1� �� ���) 8� �>����;� 80��
 ���
 

��: ���9�0� ���:

	� <�=� ;�/ �>��6R

n�;<� "]'�` ����;� 8-�-� $� ��2/3 �?^-� �� ���
 c�?� 1/3 1n�
 ���-: �1�G �'
 �/`�. 8��'� 

�1�#G �� �-#��
 �'#��+1/3 �?^-� �� s��7 �#��
 c�#?� 1/3 ���'& ���% 8��'� .�� I'
 �&�2/3 c�?� 

�H:�� X7 �
 $��H#�R-��
 ����� ���% �)���
25 �����'
 �&� �1�&��� 90% �'G�� �� c�?� 1/3 

�-��
 ���-: �1�G �'
 (��� 8� 80��
 ��� ��K�(�G �� 8,� ��W1.

-���
 8� E0���� 8-�-� �1� �
 c�?� �''<) 1 ���
 ��3��� ���-: �1�G �
 c�
�� !�30���.

-��� ��� L%�1 ��3�#0� ���#� �#> ���� 1 !�#4j@� )j\� "��K>1�&��� �� �K�� ��> �-��� �: 8



��

��� ��� ���<) ���� ��K>1�&��� �
 �� ��� =*G ��� ���� ���� ����� =����� �'���'�.(

�� ��;: �&� 8/: ��@ �
2/3 �H:�� X7 �
 $��H� ��� �''<) c�?� R�-��
 )���
25 �&� �1�&��� 

< 45% �?^-� �� c�?� 1/3�-��
 8��'� (�� ��W1 ��� ��K�(�G �� 8,���:

-��3��� ����;� �1� �
 ��� �''<) c�?� 1 E0� E0���� ���-: �1�#G �#
 c�
�#� !�3#0���

���
 8�.

-c�^7 �� ��� ������
 ��> ���;� ��� c�/"� ��,�� 1 E�'� o0�-� �����
 ���#;� Y1� 

E0� ���� ���+ _/�"�.

8#-�-� �� �#: �����#� ��R�-���. ���
 Z��
 8� 8+ 8#`�7 F#/4 �#
 ��
H� E/4 1 ��� 80��


 �� �� 1 ��� ��'&�/W �� ���� ��W�
 �� �: �
�� �#''5) ���#@ Z�#�'0 X���#� 1 ��#� 8��#0�-�

 ��D�� ���
 �K�� �� ���
 ���;> Z��'0 �� !��''5) I>�: �
 1 ���
 q�/^� x�7 F#/4 �#: �����#�

���& ���9�0� Z��'0 ��3K
 1 o0�-� X����.

���
�� �/ *��+ <�=� �4��/ �� ;�:���� X

�� �� �-���. �: E0� o/^� ��� ��->� ���� �>����;� ��� �� F��;) �� ���4�'T ���(� �#> ��#W1

 8-�-� �� ����?� �
 �{�1 F/4 _�: ���
 E(�G ��� �� ���
 8;� ���-: E�) ���� �� 8@ 1 �#^?�

X1R���
 8� o0�-� .

Runs 

�� 8��D
�W ��T� ����'
 ��� ��K�(�G �� $��>E0� 8-�-� �� F��;) :

-�'���'� X7 =�@ $� �� _��� $� �� �^?� E9>.

-��� ��� ���� �� Z: 8(���� ��^
 �: �^?� E9> .

E0� E/4 1� �> �� ��� F/4 �� 8,� �
 8��K�(�G �'-U ��W1:

-n�;�G� 1 ��.�� �''5) �-���. �'���'� "E0� �''5) ��G �� ��->.

-��'0 ��'& ������ �� ��''5) f�%1 Z)1 !�H'KD) 1 ����0� E'0��G…(

��� ��� q�"��� o0�-��� �> ���;� E0� �,;� ���& F`�G �>����;� �� ���4�'T ���(� �,'�(�G ��

 ���9�0� ��� E�) �� ���) 8� c�?� 8&�-:��+ 80��
 ���
 ���
 o0�-��� �����#
 ���#;� Y1� �#� 1

��:.



�	

n�#;<� "�1�#G �#��
2/3 �;� �1� ��#� �'#'<) c�#?� �?^-� �� ���1/3 ���% ���-: �1�G �'
 8��'� 

���#'�
 .�1�#G1/3 �?^-#� �� c�#?� 1/3 1 8#��%�. 1/3 �1�G 1 8#����) 1/20 �1�G �
 $��H� c�?� 

�#��
 ��#�-: .n�;�#G� "1/150 ���-: E�) �����+ Z��'0 �� ��� ���
 ���-: �1�#G �� s��#7 c�#?� 

�-��
 8� .�1�G X?.99/73% � �� c�?� ��
 �->��7 ���-: �1�G �'
 ��1�� .�� ���'
 �: 8�(�G ��

2/3 �-��
 �-���. �'���'� �#
 $��H#� c�#?� )���
25�� I'
 �&� �1�&��� 90% �?^-� �� c�?� 1/3 

��� 80��
 ���
 ��� F/4 �-��
 ���-: �1�G �'
 8��'�:

-����;� �1� �
 c�?� �''<) �� ��3��� 1 ���-: �1�G E0���� !�30��� 

-E0� E0���� ��'& ������ Y1� .

-��� ��� ]'��) �> ���;� �
 c�
�� !�4j@� .

�� �#�;: �#&�2/3 ���� L%�1 �'���'� X7 �
 $��H� c�?� )���
25 �&� �1�&��� 40%��;: �� c�?� 

�?^-� ��1/4���'�
 ���% 8��'� (��� 80��
 ���
 ��� F/4:

-1 ���
 ��3��� ���-: �1�G �
 c�
�� !�30������
 8� E0���� 8-�-� Y1� �
 c�?� �''<) .

-E0� E0���� �> ���;� ��'& ������ Y1� .

I�J *>A �4��/ � ���4�
D 

8��0�-� 1 Z��'0 L��0 80��
 ���
 s��7 ���-: �� �> ���;� �'���'� �#: 8#��K�(�G �� $��#> ��

 ��''5) f1�� ���� ���) 8� �> 8-�-� 80��
 �
 ���
 8� ��'� ���� �> E#/4 1 Z��'0 �� q�/^��� !

��;� 8#0��
 �� !��#''5) �#�� !�#� .1 ���3� q�/^��� ��';> x��"
 F/4 �: E��� � � �� ���


 ���
 8� o0�-� �> !���5� I>�: ���
 8#>�& .�� ���) 8� �-��
 ����� 8�"�� F/4 �: �� 8@�?�

E.�&� � �� ���-: E�) �� �-���. 1 ��;� =*G 8-�-�.

� �'/: E(�G ��� �����D� ���
 !�30�� "��� O�D��.

��>����#;� �'#K) ��X1Rc�?� ��� �� $��> ���
 6���-: �1�G �� s��7 c�?� ��>��� !��` �� 

E.�& � � �� ���) 8� E(�G 1�:

�N���� ��W1 8�"�� E/4 6 ���-: �1�G �� ��
H� �^?� ��.�&���% s��7 ���
.

�N�1�G �� ��
H� �^?� ��.�&���% s��7 ���
 ����� ��W1 8�"�� E/4 6 ���-:.

��: =*G ����;� �� �� ���-: �1�G �� s��7 �#^?� ���#) 8#� �1� E#(�G �� .$� =*G !��` ��



�


����;� 1� �> �� �^?� �#�� E#0� �#�K
 ����#;� $#� �� �#^?�X1R��� =*G .���W !�30��� 1

��� 8� O�D�� ����;'%�
 ��> ���;� ���<) b�0��
.

8;� O1� E#(�G �� �� s��7 �� �'(�) �-���. ���
 1 ��;� =*G ����;� �� �� ���-: �� s��7 c�?� ���)

��;� ��. ���-:.

2
���6 -�K
� 

�-���. 8/<. E'<h1 ���) 8� �@�
�� ������ ��3% F
�% !��"�� �1�G 1 ���-: �1�G �'
 ����?� �


�W�
 �'(�) �-���. �� ���3K
 1 ���: 80��
 89': � � �� �� �'(�)��1� �.

2��
� &�"L� � �� MN4 �����/ 

�-���. E'<h1 ��->� ���� L%�1 �� �: ��� 8� Z0� 8��1��. L���) 8#-�-� ���#
� �/G�#� �#�� ��

���
 8� �'(�).

δδδδ��� 8� �30��� ��� �^
�� �� 1 E0� �-���. �������0� =����� ��->� ���� :

δδδδ = R / D2

R:1 �> �-��� �'���'� d2:3��h ���;� ZDG b�0��
 �: 8R��� 8� E0�
 �1�W �� .

j\� "�&�36 = µ17=R14=n

δδδδ = 7 / 2.059 = 3.4

����?� �<
 �/G�� ��3 δδδδ±µ��� 8� �30��� :

46.2) =3.4 × 3+ (δδδδ3=35 + µ

25.8) =3.4 × 3(Nδδδδ3=35 + µ

it0USL 1LSL����& 8� ["�� :

�n�
 i���(�) 8+8;0� ������ =��3% F
�% ��"�� 8�n�
 �G(USL) 

8-'r�+ i���(�)N8;0� ������ =��3% F
�% ��"�� 8-'r�+ �G(LSL) 

j\� "n�
 ���;� �� 8;0� ������ �&�Pg8�n�
 1 8-'��+ i���(�) 1}1�g���
 :

USL = 40+10 = 50 

LSL = 40 – 9 = 31 

�1� �
 c�?� ��� ���: F?�-� �
��� 8� 80��
 �-���. E'<h1 8-�-� .



��

���
 8� !�<��h ��->� ���� ~U E;0 ����7 ����> E;�% E(�G ��� �� �:.

�>� 8� ���� �� �> ���: ���
1� ��H'� L%�1 �� ��� L%�1 E0�� E;0 �� ����7 ����> E;�% �&�.

Z = (31-6) / 3.4 

P(Z <  - 1.47) = 0.0708 

�1�G 8-<�7%Z���� H���1� .

2
���6 �
')/ 

��0 8�;0 �
 �� ����� 8-�-� 1 ��� 80��
 �> ���: ���
1� �� !�<��h ��H'� ���
 �/G�#� �#�� ��

Z'��
 ����� �� �> ���: ���
1� 1 !�<��h ��;�G� ����;: 1 E(�G ����K
 �: Z'>�.

0�� E;0 �
 ����� 8-�-� ��\� ���� �� �&� �,���@ �
 ��� =��-� E:

50 =δδδδ3+µ

29 =δδδδ3Nµ

µ = 39.8

ZC = (31-39.8) / 3.4 = -2.59    (Z <  -2.59) = 0.0048 

 �1�G �''5) �� �'���'� �''5�� �
 6�-���. ����� 8-�-� �
 �W�) �#
USL 1LSL !�'`��7 �''5) �
 �� 

1 ��� �'(�) �<^%…�K
 �
 ���) 8� �'0� 89': � � �� E(�G ���.

O�����������
�� X�S

��>����#;�X1S���
 8� 8/: ��>����;� f���� �� ���� 8,� .��>����;� �-��� �>����;� ���X1R

!��''5) �-��� ��W �
 �>����;� ��� �� �: !1�9) �#�� �#
 �-�#�>R�������0� =����� �� S���9�0� 

��� 8�.

�����#0� =��#��� �
 �� �� !�<^% �4�;D� $#� �� ����#�� 1� �K-#) �#: !��#''5) �-#��� =j7�#
 ��

 �� o')�) ���
 1 ��'& 8� � � �� �� Oj%� �4�;D� $� ����?� O�;) �: E0� �� ����#�� 6��#'& 8#�

���
 8� �4�;D� Oj%� 8&�-:��+ �� ��) J'%� ��'& ������.

�
 ���� Oj%� ���?� �&� ��G ��� �#
 80�)��� q�"��� ��> ���;� ZDG 6���-: ��>����;� ���� �� (

�� Z:)n�;<� "n<10 ( ���0 E/4 �
 1 E0� 8&�-:��+ ���-: ���
 8(�3% F
�% ��'<� 6 !��''5) �-���

 ��1H( ���
 ���� ���;� ZDG �&� 8(1 ��� 8� ���9�0� ��'<� ��� �� �� �30��� ���
"=����� �� ���
 6



��

9�0� �������0� ����;� �
 1 ��� ���S��� ��7���+ �-���. 8&�-:��+ 80��
 �
 .

������
�� ��)� *+���X�S

��>����;� �-��� �>����#;� �#�� �'#K) FG��#�X1R�> �������0� =����� 6�-��� ��W �
 X?. E0� 

��� 8� E0�
 �>�������0� =����� �'���'� it0 1 ��� 8� �30��� ���;�.

S = ( Σ (Xi – X)2 / (n – 1)) 

��� 8� �30��� �'���'� �������0� =����� 6 ���;� �> �������0� =����� �30��� �� i+.

S = (S1 + S2 + S3 + … Sn) / k

�H:�� X7 ���?� ���)CL (  ����;�S��
 �>��7 .

UCLS = B4 .S                                   LCLS = B3 .S 

UCLS = X + A3S LCLS = X - A3S

N 2 3 4 5 6 7 8 9 10

B4 3.27 2.57 2.27 2.09 1.97 1.88 1.82 1.76 1.72 

B3 * * * * 0.3 0.12 0.19 0.24 0.28 

A3 2.66 1.95 1.63 1.43 1.29 1.18 1.10 1.03 0.98 

8-';") ��^
 �-���. �������0� =����� 

δδδδ = S /C4 = δδδδ s/c4 

�#: �� �� S1 E0�> ���;� �������0� =����� �'���'� C4�> ���;� ���<) o�G�
 �: E0� 83��h 

�#�� 8#� E#0�
 �1�#W �� .1 �������0� =����� �,')��` �� �-: �1�'+ ����� L���) �� �-���. �&�

 83��?) ���?� 6�-#��
 ���#�� ��#�-: E#�) 1� �#> �'#���'�δδδδ�?'%� "D-0 ��'<� ���-<
 ����) 8� I

�1� ��,
 �-���. 8�����).

N 2 3 4 5 6 7 8 9 10

C4 0.798 0.888 0.921 0.940 0.952 0.959 0.965 0.969 0.973 



��

��\#� :��>����;� �� Z'>��7 8� ���� 8� �+ �H/. 8@�% �� �: 8���. �W�& q� ��1 ���-: ���


 ��#�-:X1SZ'#-: ���9�#0� .1� �:�+ 8@�% X7 �� �� -� ��� ���#
 ��1 �����g�� ��� �+ 8@�% 

!�� �
 �� ��: ��� 1 Z'-: 8� E3#C 1 ��#'& ����#���gZ'>� 8� ����� �1� .o�G�
 �> 8@�% ��1

 �� q�/^� �G 1 ��� ��'& ������117.5±2.5E0�.

X = (X1 + X2 + … + Xn) / k

X = (117.78 + 117.34 + … + 117.64) / 20 = 117.51 

S = S1 + S2 + S3 + … + Sk

S 18.376 / 20 = 0.919

UCLS = B4 .S    ==== 1.716 ×××× 0.919 = 1.580 

LCLS = B3 .S    ==== 0.284 ×××× 0.919 = 0.261 

UCLX = X + A3S   ==== 117.51 + (0.98 ×××× 0.919)  = 118.41 

LCLX = X - A3S     ==== 117.51 - (0.98 ×××× 0.919) = 117.61

/: �: ��� 8� � Gj������ ���% ���-: �1�G �'
 c�?� �'.

2
���6 �
')/ �4��/ 

��� 8� �30��� �-���. �������0� =����� ���
� �/G�� �����.

δδδδ = S /C4 = 0.919 / 0.976 = 0.944 

µ ++++ 3δδδδ = 117.51 + (3××××0.944) = 120.342 

µ ---- 3δδδδ = 114.678 

Z'-: 8� Z0� �� ����� 8-�-� ��G.

~U E;0 �� Z> E#(�G �#�� �� ��W1 �
 8-<� ���� ��W1 ����7����> ]^0 E0�� E;0 �� Z> 1

���
 8;� ��3% F
�% ��1��� �� ��� �+ ��> 8@�% 8u<
 ��1 6�-���. ���
 ���-: E�).

���-: ��1��� �� s��7 ��1 �
 ��> 8@�% �`��:

Z1 = (USL - µ) / δδδδ ==== Z1 = 120-117.51 / 0.944 = 2.63 

P(Z < 2.63) = 0.9957 



�


P(Z > 2.63) = 1 – 0.9957 = 0.0043 

0.43%��� ��� �''<) �G �� ���'
 ��1 ����� �> 8@�% .

Z2 = (LSL - µ) / δδδδ ==== Z2 = 115-117.51 / 0.944 = -2.65 

P(Z2 < -2.65) = 0.0049 

 8-<�0.49%��� ��� �''<) �G �� ��;: ��1 ����� �> 8@�% .

0.40% + 0.43% = 0.83% 

 �1�#G0.8% �#> 8#@�% ����� q�#/^��� ��1.8-:�+ 8@�% �-���. �'���'� Z' -) �
)=����� �
 8-<�

 E0�� �� ~U E;0 �
 8-�-� (��;: �� �G �� ��;: �� �G �� ���'
 ��1 �
 ��> 8@�% E3�� ���) 8�

 8� !��` c�
�� ��> �-�H> ��.�& � � �� �
 ��: ��� ���
 ��'& Z';�) ��#3(� �#: ��#;� ��#�'
 �

��'&.

F�����(X and R ) Median Charts 

����9�� ����?� !��''5) ����;� �#��X�/`�. �> ��'& ������ �'
 �: 8^���� �� 1 �>� 8� ���� �� 

���;� $� ���
 �K-) ���
 F,�� �1�& ��� �> �'���'� �30��� 1 ���1� E0�
 �� 1 ��� L%�1 �����

 �: �����'
 ���
 ��*+ ��,�� 8&��#0 �#
 �'#(�) �-���#. �� ���� �� ��
� .����;� ������ �
 ����;� ���

 �#> �'#���'�(X) �: ��� �
 �W�) �
 8(1 ���
 8;� b��G �'(�) �-���. �� !��''5) _�: �
 E3�� 

�;'?��� ���) 8� �� ����9�� ����?� ���
 ���-: �1�#G "�
 ��: ����?� ��3% F
�% !��"�� �1�G �


 ���;� �'���'� ����?� F,�� ����;� ������ 8� =�@�
 ��3% F
�% !��"�� �1�G �
 �>.

��>����#;� �� �#: 8#��D�� ��R1X��� �� ���) 8� ���� 8� ���� ���� ����& Z#> 1 ���'#� Z#> 

8(���� FG��� �� �-���. $� 8W1�7 80��
 �� 1 �-���. ���-U ��> 8W1�7 ����?� ���
 �>����#;�

��;� ���9�0�.

�'K) FG���:��>����;� X1Rn�;<� "��> ���;� ���
<10 �1� 8� ��,
 ��4 .�� ��9-� ��> ���;�

 �-��
 8� o0�-� ��'#�
 E#(�G �#�� .b�0��
 ����;� ���
 E9W �1�&��� �> �� �> ���;� ���<) �&�

 ��#� 8#� Z#0� �H#:�� �#G�1 1� �'#���'� .6�1�&��� �> ���'#�X6�� �-��� 1RE3C �1�W �� 

���& 8�.

����;� ��� �� 6�> ���'� �'���'� �H:�� X7XE0� .



��

�
 �> �-��� �'���'�R���& 8� ["�� .��� 8� �30��� ��� X
�1� �� ���-: �1�G it0:

UCLR = D4 R LCLR = D3 R

UCLX = X + A2R                      LCLX = X - A2R 

 ����?�D41D31A2o�G�
 n�30��� �1�W �� ��� 8�.

N 2 3 4 5 6 7 8 9 10

D4 3.27 2.57 2.28 2.00 2.00 1.92 1.86 1.86 1.78 

D3 * * * * * 0.08 0.14 0.14 0.22 

A2 1.88 1.19 0.80 0.69 0.55 0.51 0.43 0.41 0.36 

2
���6 &�>/�% �4��/ 

�^
�� �� �-���. E'/
�% 80��
 ���
δδδδ = R /d2�� �� �: ��� 8� ���9�0� R�'� E0� �> �-��� �'��

 1d2��� 8� �30��� �1�W �� .

n 2 3 4 5 6 7 8 9 10

d2 1.13 1.69 2.06 2.33 2.53 2.70 2.85 2.97 3.08 

��� 8� 80��
 ���-: �1�G �� �'���'� �/`�. 1 c�?� 8&�-:��+ ����;� Z0� �� i+.

��P�� ��� �
��� � �� 
� ��� ��
�� ���/ ���
� ������
��(X-MR) 

80��
 ��� 8� s��"�0� ���;� $� �� �: 8)�4j@� b�0��
 �-���. ���-: �: E0� O�n !�%1� 8>�&

 j;4 �K>1�&��� �� =j�7� E(�G ��� �� 6�> ���;� �� ����<) �#� ���#& "8�%1 E(�G ��� E0� �9`

 ���,� 1 ���;> �^?� �> �� Z��'0 8W1�7 �� 1 ���
 ���& ��'& ������ �: ��.� 8� ��9)����
 .��

���-: ��>����;� �� ����� ���& �#��X-MR ��� 8� ���9�0� .��>����;� �-��� �>����;� ���X1R

�--: 8;� ["�� �� Z��'0 8rHW !��#''5) 1 ���3#� J'#%� 1 b�#�G .�-���. L���) �: 8)��` ��

E0� O�n ����� E%� �>����;� ��� ��'&��,
 �� ���3� ���?��.

�'#K) FG��#�:��?� ��� 8� E3C !�4j@� z�
 �� ���;� �> ���
 ��#� Er��#% �#� .�'5�� it0R

)�#> �-#��� (��� 8� �30��� �> ���;� ��(MR) . �30��� 8(���� ������ 1� �> �'
 =j�7� E0� ��K




��

��#�)j\� "1 O�0 1 O1� ���;� �� O1� 1 �1� ���;� �'
 =j�7�…(E0�
 ����?� ���<) o')�) ���


 �� ����j\� ��
 �>��7 ��;: ��4 $� �> ���;� ���<) "���
25 ���;� 24 ��� 8� E0�
 ���?� .

���;� ���
 8� ���0 ��'& ������ 1 �����
 ���;� �U�&� �#: E#0� �� ���#� �#�� �� Z#K� ��#,�

 �
 1 ���
 ZK� ��'�
 �: E0�> Er��%n��� 8� ["�� .

0� ��� ��K(���. �� ���-: �1�G �30��� ���
��� 8� ���9�:

UCLMR = D4R

LCLMR = D3R

UCLX = X + E2R                                            LCLX = X - E2R 

 �� �� �#:R�'#���'� Moving Ranges)�K>1�& �'
 =j�7� ��� �30��� �#���?� (1X�'���'� 

1 �-���.D4 , D31E2o�G�
 n���� 8� �30��� �1�W �� .Xb�0��
 Er��% �> �� ����?� L;W 

��� 8� �30��� ��� Er��% !��9` ���<) �
 Z'�?).

n 2 3 4 5 6 7 8 9 10

D4 3.27 2.57 2.28 2.11 2.00 1.92 1.86 1.82 1.78 

D3 * * * * * 0.8 0.14 0.18 0.22 

E2 2.66 1.77 1.46 1.29 1.18 1.11 1.05 1.01 0.98 

��� ���-: �1�G �� s��7 c�#?� ��#W1 E0� x�7 E/4 $� �� .��W1 E0� Z: �> ���;� ���<) ��U

 F#��;)Trend ��� _�: �� E/4 1 ��� 80��
 ���
 1 ���
 Z#K� ��'#�
 8#-�-� �� .Z0� �� i+

 F��;) 1 �>��(� ��W1 1 ���-: �1�G �'
 c�?� I-:��+ ���-: �1�#G �� s��#7 c�#?� ��#W1 8#-�-�

Trend���& 8� 80��
 8-�-� �� .

#. L#���) �#&� ����;� ���� �� �: 8��> Y1� ��'&��,
 �
 E0� �,;� ���
 ���?���� �-���X��W1 

����� ��W1 E/4 ��� �: 8(�G �� ��� ���� 8-�-� �� x�7 E/4 $� ��W1 �� 8��j4 ����.

E0� Z: �1�&��� �> �� �> ���;� ���<) �,'#r�D�� ��)��4 $� (8-�-� F,� ����) 8� ��3��� Er��%

�'C�) E�) ���>� ���% .���
 8� ZK� ��'�
 ���;� Er��% �����
 ���;� O�D�� �� E%� ����
�-
.



��

2
���6 &�>/�% 

����;� �� �������0� =�����X-MR 8-�-� �-��� R1X��� 8� �30��� ��� ����. �� .

δδδδ = R /d2 = δδδδR/d2 

�� �� �#:R�> �-��� =j�7� �'���'� (Moving Range) 1d28�
�C ���?� b�0��
 �: E0�n��

��� 8� �30��� �1�W.

8-';") ���?� ���
 ����� ���-: E�) �-���. �: 8����� ���
 ����� �-���. L#���) �#&�δδδδ����) 8� 

�;'?��� "�1� ��,
 �-���. E'/
�% ID-0 ��'<� ���-<
.

n 2 3 4 5 6 7 8 9 10

D2 1.13 1.69 2.06 2.33 2.53 2.70 2.58 2.97 3.09 

>/�%2
���6 ������ � 2
���6 &� 

��� 8� ���9�0� �� L���) �� ���-: E�) �����+ �-���. $#� _'#`�) ���#
 .!n���� !�'`��7

 n�#;<� "����� F��;) L���) ��� H:�� E;#0 �#
 .j\� ���3� o0�-� !���
 L���) �&� "E0� �,;�

 ��� ��0��7 =��>� �
 �K�� ��> 8&{�1 �: ���� �'(�) 8)n�#���(Target) �-��
 ������ E?
�^� .

���
 8� ���)�� ������� ��>��'� �
 8���"0�+ �� �'#(�) �-���#. E#(�G �#�� �� .L���) ����& �&�

 1 ���
 ���� c�?� I-:��+ 1 �K+ 8/'7…��� �>��7 ���+ 8K
��� !j,�� .

�) 8� �{�1 ��K,'-,) ��'&��,
 1 ��� �'(�) ��> ���#;� �� F#`�G !�#4j@� 8#0��
 �#
 E'/
�% ��

��;� 80��
 �� �-���..

�> 8&{�1 �
 c�3)�� �� �-���. !��''5) [7��Cp1Pp���
 8� .

�
 �-���. E�H:�� 1 �-���. !��#''5)CPU 1CPL 1Cpk 1Ppk��� 8� 80��
 .�� !��''5) E3��

 �
 �> 8&{�1 �
 c�3)�� �� Z��'0CR 1PR���& 8� 80��
 .

-�(�4 ���Q 3����P�Inherent Process Variation 

n�;<� 1 ���� ��W�
 �1���� F/4 �� !��''5) ��� "�/'0�
 ���-: ��>����;� ��R/d2����� �� 8>�& 1

F\� ����S/C4���� 8� ��'
 .



��

-�(�4 *� 3����P�Total Process Variation 

�,;� !��''5) ��� 1 ���� 8� 8��� �1���� 1 x�7 E#/4 1� �#> �� !��#''5) �#�� =����� �
 E0� 

�������0�S�� �� �: ��� ["�� nE0� Er��% ���� ��K>1�& O�;) ���<) .

S = Σ (Xi – X)2 / (n-1) = δδδδS

�� �� �:Xi1 Er��% �> �� ���� E0�
 ���?�n1 E0� 80��
 8@ �> ���;� F: ���<) X�'���'� 

E0� ���� E0�
 Er��% �> �� �: E0� �����?�.


���6 &�>/�% 2Process Capability 

���?� b�0��
6δδδδ���-: E�) �: �����+ ��>�-���. �� X?. 1 ��� 8� ��'
 Z��'0 8)�� !��''5) �� 

�1� 8� ��,
 �-��
 8� .���?�δδδδ83��?) ���?� b�0��
 R/d2��� 8� �30��� .

δδδδR/d2  = δδδδ = R /d2

2
���6 ������Process Performance 

���?� b�#0��
6δδδδ5) �� �
 1 ��� 8� ��'
 Z��'0 F: !��''S�30��� ���;� �������0� =����� 8-<� 

��� 8� .δδδδS)(

�� �
��6 � �'4�5� 

CP:�
 Z'�?) �'��+ 1 n�
 �1�G !1�9) �
 E0� �
��
 1 E0� �-���. E'/
�% i:�-��6δδδδ.

CP = (USL – LSL) / 6δδδδR/d2 

PP:����?� ���
 X?. 1 E0� �-���#. 8#����: i:�-#�� �
Cpk �� CP��� ����. �� 1 �1� 8� ��,
 

��� 8� �30���:

PP = (USL – LSL) / 6δδδδS

CPU :  8-�-� �'���'� �� n�
 �G �/`�. �#
 E#0� �#
��
 �#: E#0� �-���#. E'#/
�% 8#�n�
 i:�-#�� 

�
 Z'�?)3δδδδ:

CPU = (USL – X) / 3δδδδR/d2 

CPL :  
��
 �� ���?� 1 E0� �-���. E'/
�% �'#��+ i:�-#�� �'���'� �� �'��+ �G �'
 !1�9) �
 E0� �

�
 Z'�?)3δδδδ:

CPL = (X-LSL) / 3δδδδR/d2 



�	

CPk :  �
 E0� �
��
 1 �1� 8� ��,
 �-���. E�H:�� 80��
 ���#
 1 E#0� �-���#. E'#/
�% i:�-#��

 ���?� ���#�;:CPU 1CPL . ���4 ���?�CPK ����,��H� 1 �-���. H:�� �'
 �/`�. �
 E0� �
��
 

8&{�1 �G�-���. ����& _�� �
 Z'�?) .

Ppk :  �
 E0� �
��
 1 �1� 8� ��,
 �-���. E�H:�� 80��
 ���#
 1 E#0� �-���#. 8#����: i:�-#��

 �
 Z'�?) �'���'� ���?� �� ���-: �'��+ 1 n�
 �1�G !1�9) F%��G3δδδδS8-<�:

��� ����. 1� �� 8,� F%��G:

(USL – X ) / 3δδδδS �� (X - LSL ) / 3δδδδS

Ppk :�
 ����?� ���
CP1CPK �1� 8� ��,
 .

CR:�-���. E'/
�% E3�� 80��
 

CR = 1 / CP = (6δδδδR/d2) / (USL – LSL) 

PR:Z��'0 8����: E3�� 

PR = 1 / PP = (6δδδδS) / (USL – LSL) 

���2���4� R��5�� �4��/ 

Z#>Sn�
 !�3#0��� �� �#: Z> 1 ��� v�^�S8-�-� �� �: X1S����. �� 1� �> ��� 8� ��'
 

���� 8� �30��� �������0� =�����.

S and S =  ( Σ (Xi-X)2 / (n-1)) 

n��� 8� ��'
 !��` 1� �
 :

�N��#9-� ��#> ���#;� ���#� �� :nOj%� F: ���<) 8-<� E0� 80��
 E�) ��> ���#;� O�#;) 

��� �����
 ���;� 

�N���>����;� ���� �X1S:n�<W��� ��
 �> �� 8-<� E0� �1�&��� �> �� �> ���;� ���;� 

��� 8� O�D�� �����
 ���;� ����0� �
 .

δδδδS��� 8� �30��� �> ���;� �0 �� �� 1 E0� �-���. F: �������0� =�����) .1S��� 8� �30��� (

8(1δδδδS�� �� 1 E0�K>1�&��� �������0� =����� S��� 8� ���
 ��,
 .

E0� ��1�h ��,� ��KU �
 �W�) �-���. E'/
�% 80��
 ��:

-���
 �����+ ����� � � �� ���
 �-���..



�


-�--: �1�'+ ����� L���) $� �� �> ���;� 1 �> ��'& ������ .

-���
 ��� ��'
 ����� ��>��'� b�0��
 �> 8&{�1 .

-�) 8<%�1 ����?� �
 ��� �30��� 8-';") ����?� �-��
 $��H� .

j\� "��� �30��� ���?� �&�CPK = 1.05 8<%�1 ���?� E0� �,;� ���
 CPK = 1.4���
 .

!�,� :

-�1� 8;� ��,
 �-���. �'�9) ���
 8��K-) �
 ���'#<� �'#> .n�;<� "Z> �
 ���'
 �� i:�-�� 1�

���� 8� ����?� .j\� "o':�)CP1CPK �� PP1PPK ��PP1PPK.

-���;�G �>�-���#. 8#0��
 "!��` ���� Z> 8)�30��� ��> Y1� 1 ���-: ��> 8-�-� ���


 ��#�*+ .�-���0 ��'�
 Z��'0 !��''5) 80��
 ���
 �>����;� Z0� 1 8-�-� �1� �
 c�?� �'#'<)

 80��
 �
 1 ���
δδδδS1δδδδR/d2 1 ��;� 80��
 �� Z��'0 E'/
�% 1 Z��'0 8����: �'
 �/`�. ���) 8�


 EKW ����: ��'& Z';�) Z��'0 ��3K.

�� 1 ��� 8� s��7 ���-: �� �-���. �: E#0� �� �'#G�� E<#01 ��-#>� ��#�� �/#`�. �#�� ����#��

E0� Z��'0 ������+�� ��H'� ����� �/`�. ��� �����+�� ��>�-���..

����?� �����+�� ��>�-���. ��δδδδS1δδδδR/d2�����+ ��>�-���. �) ����� ����'
 =j�7� .

4�5�2
���6 &�>/�% �' 

��> 8-�-� 80��
 �� i#+X1R��� 8� ["�� �-���. E'/
�% .�30��� ���
 ���'�
 ��K,'-,)

 ���� ��W1 ���-: E#�) �-���#. E'#/
�% .["�� �� 83��?) ����?� X?. ��� F�n� �
 �-���. E'/
�% 

�-: 8� :

�N�;r�� �> ���;� "���''5) ��G ��.

�N�) F��: ��@ �
 ��-���. �'> E�'� ����� ��> ���-: E.

	N�-: 8;� �1�'+ ����� L���) �� F��: ��^
 ��-���. �'> ) .����� L���) �> ��(

���?� 6���� 8���
 �K>1�&��� �-��� �
 6�K>1�#&��� �#''5) �� 8#��� �-���#. !��#''5) �,'#r�D�� ��

 �-���. �������0� =����� 8-';")δδδδ0��� �> �-��� �'���'� b�0��
 ����) 8� ��� �3.

δδδδ = R / d2 = δδδδR/d2 

�#: 8#�(�G ��R�-��
 ����� ��> ���-: E�) �'���'� 1δδδδ�30��� ���
 ���'<� ���-<
 ����) 8� 



��

��#� v�#^� �-���#. E'#/
�% .�#���?�d2�30��� �1�W �� �1�&��� �> �� �> ���;� ���<) b�#0��
 

��� 8�.

n 2 3 4 5 6 7 8 9 10

d2 1.13 1.69 2.06 2.33 2.53 2.70 2.85 2.97 3.08 

��� 8� ��'
 �> 8&{�1 ��3% F
�% ���-: �1�G �� �'���'� �'
 �/`�. ���-<
 �-���. E'/
�%.

����?� �-: 8� �1�'+ ����#� L#���) �� �#: ��-���#. ��X1δδδδR/d2 1Z�'�9) �� 1 ���
 ZK� ��'�
 

�1� 8� ��,
 �-���..

-�� �\:��G !���
 �: 8��> 8&{�1 ���
���� 8� _��<) F%��G :

Z = (USL – X) / δδδδR/d2 �� Z = (X - LSL) / δδδδR/d2 

 �� �� �:X1 �-���. �'���'� SL ���?� 1 �> 8&{�1 �1�G δδδδR/d2E0� �-���. �������0� =����� .

-����� �'��+ 1 n�
 Y��*+ ����?� �: 8��> 8&{�1 ���
:

ZUSL = (USL – X) / δδδδR/d2 

 F%��GZUSL 1ZLSL �
 �� Zmin�->� 8� ���� .

ZLSL = (X - LSL) / δδδδR/d2 

 89-� ����?�ZE0�> 8&{�1 �� �'���'� ���
 s��7 ��->� ���� .

����?�Zvalue �������0� ����� L���) �1��W �� )�1HW �;';hSPC (E0� ��� ���1�.

Z�������0� =����� ��->� ���� j\� ���
 8� �-���. �'���'� �� "�: 8���->Z=2.17E0� .

PZ = 0.150 = 1.5%

�2A �'4�5�CP 

�> ����. 1 !�30���:

Cp = USL / 6δδδδ δδδδ = R/dz

_(�–��4 n�
 ����� L���) 8-�-� �� 1>Cpn�
 �������0� �1�G �'
 8-'��+ 1 n�
 �1�G 8-<� ���
 

�##�� �� 1 E#0� �'#��+ 1����#�� �##
 =�#@ 1� �� 8##-�-� E#(�G35 + µ135 Nµ���� 8##&�-:��+ .

)_(� F,�(



��

q–�,'�(�G �� 1=Cp�1�G �� ���
 27 �> �� !���5� 10000 ���� ��W1 ����� �G�1 .��� ��

 �1� �
 E0�� �������0� 8-'��+ 1 8�n�
 �1�G E(�GLSL 1USL  ��� 8� L%�1 .

s–E(�G ��� �� 1<Cp�� �������0� 8�n�
 1 8-'��+ �G 1 E0�3δδδδNµ13δδδδ+µE0� ��;: .

�-���. 1 ����� !���5� � � ���� !�'`��7 �
 ��� �'(�) !n���� �� ����� ���<) 8�(�G �'-U ��

��� 80��
 ���
.

�'4�5�CPK 

CPL = (X – LSL) / 3δδδδR/dz CPL= (13-10)/3×2.3 = 1.5 

CPU = (USL – X) / 3δδδδR/dz CPU = (18-13) /3×2.3 = 2.5 

���?� ����;:CPU 1CPL L%�1 �� CPKE0� .

CPK :�G �
 $��H� ���4� ��D�� �� �-���. 8�����) ID-0 ���
 1 E0� �-���#. E'#/
�% i:�-#�� 

���& 8� �30��� �'���'� .��H'� ����;: b�0��
 �:CPU 1CPL���& 8� �30��� .

CPK J��?) F`�G ���#<�CPU �� CPL �
 XE0� )1 n�
 �G ����,��H� 1 �H:�� X7 �'
 �/`�.

�'��+ (�
 Z'�?)1.28��1��. L���) 8-�-� ��-K+ F: .

�K(���. ���0:

K = (Target mean point – Actual mean  point) / 0.5(USL – LSL) 

CPK = CP (1-K) 

 �'4�5�Zmin 

ZUSL = (USL – X) / δδδδR/dz ZLSL = (X-LSL) / δδδδR/dz = 1.5

minimum of Zusl or Zlsl = Zmin 

���-: E�) �-���. $� ��3>Zmin �� 1>Cpk 

�� ���� E(�G �� 14>Zmin �� 		/1>Cpk 

CPK = Zmin  / 3 

i:�-��Z8-'��+ 1 n�
 �1�G �� �� �-���. �'���'� �'
 �/`�. �-: 8� �'�9) .

��\� ���-<
:

X = 0.738 ZUSL = (0.9 – 0.738) / 0.725 = 2.23 



��

δδδδ = 0.725

USL = 0.9                   ZLSL = (0.8 – 0.738) / 3.28 = 3.28 

LSL = 0.5 

Cp = 0.92 Cp < 1

Cpk = 2.237 / 3 = 0.74 

��. ��\#� ��Zusl ��
 �: 8�;0 �� 8-�-� i+ E0� o0�-��USL ���
 1 ���� ��,�� E0� ��,��H� 

��� ��'�: ~U E;0 �
 .�'���'� �''5) �
X= 0.700���� 8� .

(LSL + USL) / 2 = 0.7      = X = 0.7 

ZUSL = (0.9-0.7) / 0.725 = 2.76 

ZLSL = (0.7-0.5)/0.725 = 2.76 

PZUSL + PZLSL = 0.0029 + 0.0029 = 0.0058  = 0.06 

Cpk = Zmin / 3 = 0.92 

 �� ���� E(�G ��P=Zmin 

Zmin = 4 

δδδδnew = (USL – X) / Znew = (0.9 – 0.738) / 9 = 0.405 

 ���
 8-<�δδδδ�� �� �>�������0� 10.0725 �
 0.045��� I>�: .

δδδδnew = (X – LSL) / Znew = (0.9 – 0.7) / 9 = 0.05 


 �1�G ���) 8� !�%1� 8>�&��� �''5) �� ������ �) �� �������0� �'��+ 1 n�.

Zmin = 4(X ± 4δδδδ)

E(�G ���� F`�G �-���. �� ��''5) �&�δδδδ4±X6LSL 1USL�--: 8� ["�� �� ���W .

X ± 4δδδδ = 0.738 ± (4 × 0.725) = 0.738 ± 0.29 

 1 ��� Z' -) �-���. �&�X = 0.7 

X ± 4δδδδ = 0.7 ± (4 × 0.725) = 0.410 �� 0.990 

 �30��� EKW �/a�� 1� FG ���;�CPK) :���-: E�) �-���. 1 ����� L���) ��. �
(

�N�^% �
 �'+ $� 10mm ��D� i���/) 10.5mm ±E0� ��� �'(�) .10 ��� ������
 ���;� ��?. 



�


E0� ����� ��3�� �
 �� ��� |���� .CPK�'-: �30��� �� .

���;� ���;� ��� Er��% ����?� (Xi – X) (Xi – X)2

1 10.1 +0.2 0.04 

2 9.8 -0.1 0.01 

3 10.0 +0.1 0.01 

4 9.8 -0.1 0.01 

5 10.1 +0.2 0.04 

6 10.0 +0.1 0.01 

7 9.9 0 0

8 9.7 -0.2 0.04 

9 9.8 -0.1 0.01 

10 9.8 -0.1 0.01 

X 9.9 0.18 

δδδδ= Σ (Xi – X)2 / (n – 1) =    (0.18 / 9) = 0.14 

(X – LSL) / 3δδδδ = (9.9 –9.5) / (3××××0.14) = 0.95  = CPK = 0.95 

(USL – X) / 3δδδδ = (10.5 – 9.9) / (3  × 0.14) = 1.43 

�N8;0� �^% �
 8(���� �'#(�) �� 26.75mm ��D� i���/) 10.15mm ±��10 ��� �'(�) ��0 

$��#> ��10 �
 8W��7 �^% ��> ������ 1 ��� ������
 ���#;� ��� ��� E������ ��� v�� .q�/^�

 �30��� E0�CPK���-: E�) �-���. 1 ����� L���) ��. �
 .

���;�
��-
 

��� E������ ��> ������ X R

1 26.84 26.74 26.84 26.74 26.76 26.82 26.84 26.82 26.84 26.84 26.808 0.1 

2 26.83 26.84 26.80 26.82 26.78 26.80 26.78 26.82 26.76 26.78 26.801 0.08 

3 26.80 26.85 26.82 26.82 26.81 26.83 26.78 26.78 26.78 26.74 26.801 0.11 



��

4 26.80 26.85 26.70 26.74 26.74 26.81 26.84 26.86 26.87 26.84 26.805 0.17 

5 26.80 26.82 26.84 26.85 26.88 26.86 26.85 26.83 26.82 26.82 26.834 0.06 

6 26.80 26.82 26.81 26.82 26.82 26.79 26.75 26.78 26.78 26.79 26.796 0.07 

7 26.90 26.82 26.90 26.84 26.90 26.85 26.90 26.86 26.90 26.83 26.87 0.08 

8 26.90 26.88 26.90 26.86 26.90 26.86 26.90 26.84 26.90 26.88 26.88 0.06 

9 26.90 26.90 26.90 26.88 26.90 26.86 26.90 26.90 2690 26.86 26.89 0.04 

10 26.86 26.88 26.90 26.90 26.90 26.90 26.86 26.90 26.90 26.90 26.89 0.04 

X R

26.84 0.08 

26.81 

0.0983 
=

0.1 

��> ���;� �
 �W�) �
10 8��) d2���<� ���-: ��>����;� o���h �1�W �� 3.078��� 8� E3C .

δδδδ= R / d2 = 0.08 / 3.078 = 0.025 

LSL = 26.75 – 0.15 = 26.60 

(X – LSL) / 3δδδδ = (26.84 – 26.6) / 3××××0.025 = 3.2 

USL = 26.75 + 0.15 = 26.9 

(USL – X) / 3δδδδ = (26.9 – 2684) / (3××××0.025) = 0.8  = CPK = 0.8 

 �'(1� �D'#��:H� c�?� �'��) �� �-���. ��� 8� � Gj� �l��-U ����� E'/
�% ���-: 8�n�
 �G �
 $��

��':� E0� O�n 1"�
 �W�) �
 1 ��� Z' -) �-���.3.2  8-'��+ �G �
 $��H� ���4� ���
 ���� E0�
 

�
�� I>�: 8W��7 �^% 1 ��� ��;,�� �K3(�% ���-:.

�#��� ��#,�:�# Gj� �#
 X���;� ��> ��-
 �: ��� 8� � Gj� ���� E0�
 ��>7�) 10��'� �'�

 �
 E3�� �� 8�n�
6�->� 8� ���� ���� ��-
 .�K�� �'(�) ���� 1 ��� ������
 ��> ���;� 80��
 �*(

E��� �>��7 �� ���9�0� F
�% |����.

b���
 |���� E3C 1 �> ��-
 E'<#h1 ��#'�'+ �� i#+Q.C ��� E������ ���4� �: ���� 8� ��Kp� 

��> ��-#
 ���#
7-10 �-��'� �,)� F
�% 8/'7 ��> ��-
 ���
 ��W�� !�h1�9� �
 ���� ��
 $� �*( 

1-6Z'-: 8� FG �� �/a�� :X = 26.81



��

R = 0.11d2 = 3.078         (k=6)  ��� 8� (n=10)  ���
 

δδδδ= R / d2 = 0.1 / 3.078 = 0.0325 

(X – LSL) / 3δδδδ = (26.81 – 26.6) / (3××××0.0325) = 2.15 

(USL – X) / 3δδδδ = (26.9 – 26.81) / 3××××0.0325) = 0.92      = CPK = 0.92 

 ��4 �
 �W�) �
 1 ������ X���� ��� �
 ��. ����� �'(�) �� �� O�n E'/
�% �-���.2.15 ���� E0�
 

�
 8W��7 �^% 8/: I>�: EKW �K3(�% ���: Z,�� 1 ����0� ��D� Z' -) �
 �'��+ ���-: �1�G ��

 E.�� E0� 8.�: ��-';@� o��h �
 ���) 8� �(�( .o:�� ��'& ���;� ���� $� �� 8���;� ��� ��\�

��� 8� �r��� ���-: E�) �-���. 1 ����� L���) ��. �
 �: E0� :


 ����0 $� �^% ����� $� �� 8����20mm ��D� i���/) �
 2mm ±���
 .

Mean dia = 19.5 1=0.47 δδδδ

(X – LSL) / 3δδδδ = (19.5 – 18) / (3××××0.47) = 1.06 

(USL – X) / 3δδδδ = (22 – 19.5) / (3××××0.47) = 1.77

CPK x�7 ���� ��� �� ����
�-
 E0� ���� E0�
 ���?� ����,U�: CPK = 1.06���
 8� .

i���/) �&�3δδδδF
�% ���
 ��3% CPK ���<� F%��G ���
 1���
 .

i���/) �&�4δδδδ���
 ��3% F
�% CPK ���<� F%��G ���
 1.33���
 .

i���/) �&�6δδδδ���
 ��3% F
�% CPK ���<� F%��G ���
 2���
 .

O�
���S ���
�� 

<� Oj%� �� �> [?� �'(�) E'<h1 �: E0� �� ��� o)�� F,� �� �/'� ����;� �)��+ ����#;� �� q�'

 ��;� �
 �> �-�H> F'/�) ��>��H
� ���)�C�� �� 1 �>� 8� ���� �� ��'(�) _/�"� F���#4 1 �K�;#�.

 �1� 8#� .�� �> [?� �'(�) �� ZK� 1 80�0� F���4 �� H:��� �''<) �)��+ ����#;� �� =�#> ���#�;K�

���
 8� q�'<� Oj%�.

!�4j@� 8���� ��1� $� 8@ ����;� =�> ���: ["�� �� i#+ ��� 8� ��1� L;W .!�4j@� ���

���
 ��'(�) _/�"� H:��� 1 q�'<� !�<^% ���<) �� 6�> [?� ���<) F��� ����) 8�.

����;� Z#0� FG��#� :��� �30��� q�'<� Oj%� ���<) 1 �> [?� ���<) F: ���
� ����;� Z0� ���


 '<� �� �> [?� F: L;W �
 E;�% �> �� �> q�'<� �� �K�?� ���<) it0��� 8� Z'�?) �> q� .��4

 �� F#`�G100 ��� E0�
 E;�% �> ��> q�'<� 1 �> [?� �`�� �) ��� q�#h .���� 1� it0



��

��� 8� Z0� Z#> �#
 ��#;4 .��->� ���� ���;4 ���� 1 _/�"� ��K�;�% ��->� ���� 8?.� ����

 ���
 8� 6���� 8� �'(�) �K�;�% ��� �� $��> �� �: �> q�'#<� 1 �#> [#?� �#`�� .
o')�) ��� �

���'
 � �> [?� �
 F���4 �� �> E;�% �� ~U E;0 �� �: ��� 8� F`�G �����;�)���0 f�9)��

���'
 (���� ��W1 ��;: f�9)�� E0�� E;0 �� 1.

*�>5� � ��( � 

E0� ���0 ��'�
 ����;� ��� F'/�) 1 �'�9) .��> [?� ��W1 �
 ���'
 f�9)�� �
 ��> ���0 ��>��� �


 � �� ��#�'
 ��� 8#� ���#
 8#+ E;#�% �.F/4 �) ��� O�D�� �K�;�% �� �� ����'
 E3%��� ���
 �*(

���� =�@�
 ��� _�: [%��� ��D�� .

-��;: f�#9)�� �#
 ��#> ���#0 8#0��
 �#
)��;: ��> [?� ���<) (��3K
 ���
 o0�-� X����

���� 8� 80��
 1 _�: Z��'0.

-�� �> �-�H> ���) 8� �>����;� ��� 80��
 �
 ��� I>�: ����� ���;: [?� �: 8��K�;�% ��

����K� 1 ��;� ��'&�/W ���K'
 ��> Yj) �� 1"��;� F��<) �� �> �-�H>.

��\#� :���01���7 ���7��: $� !n���� �� _/�"� ��#> [#?� �'#(�) E'<#h1 8#0��
 ���#


E0� ��� ��1� L;W ��� !�4j@�:

)!n���� �� �> [?� ���<) 8(���� ��� $� 8@E0� ��� ["�� �> [?� f�� �> ��.(

����;� �� ����0� $� �� ��W�� ��> [?� ���<) ���-: ���#
u��� 8� ���9�0� .25 ����� ���;� 

E0� ��� q�"�#�� .F��� ���;� �>45 ���;� �> ��> [?� ���<) E0� ����� 45 1 ���;� �� 8��) 

Z'-: 8� E3C �� !�4j@�.

���;� ����)

�����
 

���;� ���;� 

!n���� ���<)

��� q�"��� 

��> [?� ���<)

��� Y��;� 

�> [?� ���<)

�G�1 �� 

u1 = C1 /n1



��

u = 1399 / 1125 = 1.24 

UCL = u + 3    (u/n) = 1.24 + 3    (1.24/45) = 1.74 

LCL = u – 3    (u/n) = 1.24 – 3     (1.24/45) = 0.74 

���� 8;� ��& ���4� ��� 8� ��'
 �G�1 �� �> [?� ���<) ��U.

����;� �� �> ���;� ZDG E0� ��K
u���
 E
�C .

[?� �`�� [?� ���<) [?� f�� [?� �: 
P}/�� 	g ���,��W A
gQ/
 �� ���,.�` B 
�R/Q �P ���
 ��'&��` C 
	
/g � ���
 �� Z' -) D 
S	/�g �
 ���: ��+ E 
R
/� S ��� F 
QR/�P 	
 8��+�'% G 
}�/� Q �;->�� ���U H 
	g/� R �/W ���U I 
}�/�} Q� �: ��+ =�
 J 
}
/P �	 ���"
 K 
PQ/	 } !���0� L 
R/P �� 8�: Z'0 M 

�/
 		 8(�-` N 
SS/g � H��) O 
� �R� L;W 

f�� �
 c�
�� �> [?� �� 8;'� �� I'
 �: ��� 8#� ["#�� ����#;� 8#0��
 �#
E,A,G,J 1 �-��> 

��> [?�O,H,I,F 1D�� ��;: 10%�--: 8� �'(�) �� F: .

~U E;0 ���� �� 1 ���'& ���% ���'
 80��
 1 �<(�^� ���� ���
 ~U E;0 �1� f�� ��KU ����
�-


 ���#) 8#� �� �) ��� x���7� �1� f�� ��KU �
 �� �> �-�H> ��� 1 ��0�: 80���
 8.�h� ��> �-�H> ��

��� F`�G F��<) 89': ���-: ��> �-�H>.

F��
>"� � &>A ���
�� 

���& �''<) H'� �� ��?(�
 F/4 ���
 ��� 8� 8��0�-� ��3��� �� 1 ��,�� 6o'#4 $#� �#: 8#���� .��

�1 F,�� �1�
 F#/4 �#: 8#<%��� E�'� ]h)E0� ]h�1 L%��� 8u<
 �� (��H
� ��/<� 1 E/4 ����;�



�	

���
 8� ��?(�
 F/4 8��#0�-� E#KW ��'#9� .��/<� 1 E/4 ����;� $� �'K) ���
 ��'� ���� FG���

�� �-)��34:

�N��� _��<) ���
 ���& F'/�) 1 ��HD) ���
 �: 8(�/<� �� 1 F,��.

�N��'� ���� F'#/�) 1 ��H#D) O�#D�� E#KW 8#;') ��� ���� F',�) .��3K
 Z') ����� o/T� ��

�-: 8� �''<) �H5� ��.�@ J��@ �� �� F,�� ��D�� ��?(�
 F/4 E'9':.

	N��� Z0� �K(�/<� �
 c�
�� ��> �3<W 1 H:�� X7 .

PN���� F��� H:H� X7 �
 8��> �3<W J��@ �� 1 �''<) 8/`� ��?(�
 F/4 ��K>1�& .

QNK>1�& �� 1 ��� 8��0�-� �#,;� F#/4 �/G�� ��� �''<) ��P���'& ���% .��'� !��` ��

��� �'K) ����� ��K>1�&.

RN���� 8��0�-� ����� F,�� �1��
 ����� �C� �: 8��K�� �) ��� ��-
 �3)� F/4 o')�) .

SN���*+ O�D�� 8Gj`� O��%� .

4 ����;� $� E0� !j,�� F'/�) 1 ��HD) ���
 ��% ��>��H
� �� 8,� ��/<� 1 E#/4 ����#;� 1 E/

 ��;� ���9�0� ��C�� ���& ��& ��H
� ���-<
 ���) 8� �� ���
 ��� �'K) q�7 !�'rHW �
 �: ��#/<� .

8>1�& !���
 ���.� 6Z') F',�) �
 �) ��: �>��7 $;: ��#/<� 1 E#/4 ����#;� $#� �'#K) �1j#<


�--: FG �� F,��.


